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MATLAB
1.1 MATLAB
30 MATLAB
1984 MathWorks
20
MATLAB “ MATRIX LABORATORY”
4
1 Numeric
2 Symbadlic
M —
3 Graphic

4 Smulink
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1.2 MATLAB

1.2.1 MATLAB

MATLAB Windows

@ Windows

@ — — /
A MATLAB-7

1.2.2 MATLAB

Windows MATLAB
@® MATLAB
@
2.
MATLAB
©) MATLAB =l
A =
@ exit quit
©) File — Exit MATLAB
1.3 MATLAB
MATLAB
Debug Desktop Window
Desktop 1-1

1-1 Desktop Layout

— MATLAB

File Edit
Help

—  Command Window On-



1 MATLAB

3
Eula Edii Dabug Timides Hali
1 s B ® ndzek Comsand Findow | Deegioes  FpesTLAFLT P |_| =
DeFaul i
i e b e p— e il Wil DL
fivitary smid Loosmaid &y mdos
e get srmrted o Caae ginll, W il o &11 Taled
o il L w bmp
Charrent B recters
Ferkapurs
Halp
Frofaler
o Dralbmr
w Shar tguts Toelbar
|i_i_! :l v TEhilax
1-1 MATLAB
ly
Command
Window Only
file —
preferences Numeric display compact
=N loose
format compact
format loose
1-1
1-1
O New M-File M-
File
[ Open File M-
& Cut
Ha Copy
[ =8 Edit Paste
Ly Undo
%" Redo
.1 Smulink
= GUIDE
T Help MATLAB Help
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Page Up

Page Down

JHERn
8

o] +c

cirl| +K

1.3.3

MATLAB

MATLAB

1-3

help

topics

lookfor

type M —

doc M —

demos

who
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what
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dir
ver MATLAB
path MATLAB
which M— M-
cd
Help
1-1 help
1 help help topics
matlab\general ——=General purpose commands ( )
matlab\ops —Operators and special characters (
)
matlab \lang ——Programming language constructs (
)
matlab\elmat —Elementary matrices and matrix manipula-
tion ( )
matlab\elfun ———Elementary math functions ( )
matlab\specfun —Specialized math functions ( )
matlab \matfun ——NMatrix functions -numerical linear alge-
bra ¢( - )
matlab \datafun —Data analysis and Fourier transforms
( )
matlab \polyfun ——Interpolation and polynomials (
)
matlab \funfun ——7Function functions and ODE solvers (
)
matlab\sparfun —Sparse matrices ( )
matlab\graph2d ——Two dimensional graphs ( )
matlab\graph3d ——Three dimensional graphs ( )
matlab\specgraph ——Specialized graphs ( )
matlab\graphics ——Handle Graphics ( )

matlab\itools ——~Graphical user interface tools (
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)
matlab\strfun ——Character strings ( )
matlab\iofun ——File input/output ( / )
matlab\timefun —Time and dates ( )
matlab\datatypes ——Data types and structures ( / )
matlab\Winfun —Windows Operating System Interface Files
(DDE/ActiveX)
(Windows )
matlab\demos ——=Examples and demonstrations ( )
2 p
matlab\elmat ”

help elmat

Elementary matrices and matrix manipulation
Elementary matrices.

zeros ——Zeros array

ones ——-O0nes array

eye ——Ildentity matrix

repmat —Replicate and tile array

rand ——~Uniformly distributed random numbers
randn —Normally distributed random numbers
linspace ——VLinearly spaced vector

logspace ——Logarithmically spaced vector
meshgrid ——X and Y arrays for 3 D plots

——Regularly spaced vector and index into ma-

Basic array information.

size —-Size of matrix

length ——Length of vector

ndims ——Number of dimensions

disp —Display matrix or text

isempty ——True for empty matrix

isequal —True if arrays are identical
isnumeric ——True for numeric arrays

islogical ——True for logical array

logical ———Convert numeric values to logical

Matrix manipulation.
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Special variables and constants.

Specialized matrices.

3 “disp”
help disp
disp
DISP Display array.
DISP (X) displays the array, without printing the array
name. In
all other ways it’ s the same as leaving the semicolon off an
expression except that empty arrays don’ t display.
If X is astring, the text is displayed.
See also int2str, num2str, sprintf,rats,format.
Overloaded functions or methods (ones with the same name in other direc-
tories)

1-2 type M- rank
rank
type rank

function r = rank(A,tol)

% RANK Matrix rank.

% RANK(A) provides an estimate of the number of linearly

% independent rows or columns of a matrix A.

% RANK(A,tol) is the number of singular values of A

% that are larger than tol.

% RANK (A) uses the default tol = max(size(A)) * eps(norm

(A)).

% Class support for input A:
% float: double, single
% Copyright 1984 -2004 The MathWorks, Inc.
% |SRevision:5.11.4.3 |S|Date: 2004/08/20 19:50:33 |S
s =svd(A);
if nargin==1
tol = max(size(A)') * eps(max(s));
end
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r =sum(s >tol);

“ rank” rank (A) A
@ %
@ “ help rank”
“ type”
1-3 cd
1
cd

F: \WMATLAB -7 \Wwork
F MATLAB -7 work

cd
F hMATLAB-7
work
cd F: WATLAB -7 Wwork

1.3.4
1.
clc
“ workspace ” “ workspace’
clear
clear
2.
save— workspace
abc wol a
save a:WO0labc
cd
savew Ol abec abec work w_01
=

load— workspace

workspace work w_02 e
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Demos MATLAB

Demos 1-2
Demos 4
MATLAB MATLAB
Toolboxes
Simulink
Blocksets

MATLAB — Graphics — Vibrating Logo
this demo 1-3 Figure 1

el
[
>

o o e e Faoims dims

1 MATLAB

2. help “ general”
help
3. help type “ linspace”

matfun”
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a=479;8.567 ,t=0:0.5:pi1, yl=sin(a),y2=sin(t),a*yl"
4 a 3
atyl y2 a MATLAB

Command History
demos “ ” MATLAB
Demos — MATLAB — Mathematics — Basic Matrix Operations
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MATLAB
MATLAB
MATLAB
1.
MATLAB Character Array  String
|dentifier
52
13 8ty5 13 f X ” 13 k_ql 13 _Ol”
2. MATLAB
MATLAB
® Double Array
©) Char Array
6) Sym Object sym  syms
class(a) a
3.

MATLAB
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2.1.1

MATLAB

pi s INF Inf

2.220 4 x - -
eps 10-16 1] ij =v-1

Nat a Number o
ans NaN 0

MATLAB

ORS)
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©
@
1 2 3
2-1 =
5 4 1
a=123;541 ; %
a
a =
1 2 3
5 1
1 2 30
2-2 2-1 =l5g 4 10
O O
i 3-i 9O
2-1
a= a;;2i3-19
a:
1.0000 2.0000 3.0000
5.0000 4.0000 1.0000
0 +2.0000&i 3.0000-1.00001 9.0000
a= a;039 +000;000;21i-i0
2.
MATLAB
2-2
2-2
zeros(n) n rand(n) n
zeros(m,n) mXn rand(m,n) mXn
ones(n) n 1 randn(n) n
ones(m,n) mXn 1 randn(m,n) mXn
n _ n
eye(n) =1 magic(n) (n° +n)/2
. a k tril(a) a
diag(a,k) k =0 (triu(a))
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2-3 2x4

zeros(2,4)

2-4 2x3 01

as =rand(2,3)

as =
0.9501 0.6068 0.8913
0.2311 0.4860 0.7621
rand(2,3)
2-5 3
mf =magic(3)
mf =
n+n /2= 3*+3 /2=15
3.
2-3
2-3
flipud (A) A rot90 (A) A 90°
fliplr (A) A nxn =k
reshape Ak
rot90 (A, k) | 4. kA k (A,m,n)
2-6 3

a=fliplr(magic(3))
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15

a=
6 1 8
7 5 3
2 9 4

2-7 2-4 2x3 as 3x2

reshape(as,3,2)

ans =
0.9501 0. 4860
0.2311 0.8913
0. 6068 0.7621

tl1=0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 (2.1-2)

4.
1
1
t=ahb t=ahb t=(ahb)
@® a b h
@ h h=1
6) t a,a+h,a+2h,
t1=00.2 2.1
<0.2
t2 =118
t2 =
1 2 3 4 5 6 7
2

linspace
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t =linspace(a,b,n)

@® a,b

®) n bh—a n n =100
6)

@ t a,a+2 8 g4pb-a o pobra,

+
n—l’a n-1’°

t3 =linspace(1,8.5,8)

t3 =
1.0000 2.0714 3.1429 4.2143 5.2857 6.3571 7.4286
8.5000
3
b-a h t =(a h b) =linspace(a,b,n) h=(b-a)/(n-1)
n=(b-a)/h+1
2
logspace
g =logspace(logl0(a),logl0(b),n) g =logspace(as,bf,n)
@® a b n
@ q a b as bf
b\t
“ (2)
6 n n =50
@ as =1ogl0(a),bf =10g10(b),logl0(a) 10 a lga MAT-
LAB
g =logspace(0,1,5) g =logspace(logl0(1),logl0(10),5)
q =
1.0000 1.7783 3.1623 5.6234 10.0000
10/5.6234 =5.6234/3.1623=3.1623/1. 7783 =1.7783 = /10
4 3 2 1
2-8 =
[8 7 6 5]

d=rot90(reshape(1:8,4,2),-1) d =rot90 (reshape(1:8,4,2),
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3)
d:
4
8
5. 1
gl =linspace(l1,1,n),logspace(0,0,n) ones(l,n),
1 n
6.
a2,b2,c2 436
a2 =4,b2 =(3),c2=6
a2 =4 ,b2 =3,c2 =6
2.1.3
1.
1 a(p) a p
“ K 3x3
1 4 7
2 5 8
3 6 9
p a() a
2 a(m,n) a m n m n
@® ‘o a(m,n) m n a n m
©) a(m,n) m m= p,q,r p,q,r a(m,
n) =a( p,q,r n) a pagr n
©) a(m,n) n n=p,q,r p,q,r a(m,
n) =a(m, p,q,r ) a m par ;
@ a(m,n) mon “p:g” psq a(p:q,n) a(m,p:q)
a p q n m ;
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® a(m,n) m n a(m,n)=a( p,q,r , w,s ) w,s
a pqr W 's ;
3) A
A(:,:,n) n
! 2 30
2-9 :gs 4 1% dl =a(:,3),d2 =a(l:
i 3-i 90

2,:) d3=a(1,3,2,3)

a=1 2 3;5 4 1;2i 3-1 9 ;dl=a(:,3),d2=a(l:2,:),d3 =a
(1,3, 2,3)

dl =
d2 =
2
4
d3 =
2.0000 3.0000
3.0000 - 1.00001 9.0000
i 3 5 7 3
b 4 6 8 20
2-10 A =reshape(1:8.5,2,4) B=10 g A
a? 5 31 1a
8 6 4 2 40
B
A =reshape(1:8.5,2,4)
A=
3
4
A B B 1 4 A A
B A

B= A, A(3):A(2) :fliplr(A), A(1):A(4)
B
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2.
2-11 2-9 4 369
a(4,:)=3 6 9 a=a; 3 6 9
4
a:
1.0000 2.0000 3.0000
5.0000 4.0000 1.0000
0 +2.0000i 3.0000 - 1.00001 9.0000
3.0000 6.0000 9.0000
2-12 2-11
a(2,:) =
a:
1.0000 2.0000 3.0000
0 +2.0000i 3.0000 - 1.0000i 9.0000
3.0000 6.0000 9.0000
2-13 2-12 2 59 4 0 5 7
a(:,2)=2;5;9 ; a(:,4)=0;5;7 a(:,2)=23;5;9 ;a= a 0;
5;7
a:
1.0000 2.0000 3.0000 0
0 +2.0000i 5.0000 9.0000 5.0000
3.0000 9.0000 9.0000 7.0000
2.1.4
MATLAB

2.15
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1.
1
size
size(a) size(a,r)
@® a
@ r 1 2 r=1 a r=2 a
©) r a (m,n) a mxn
2-10 B
size(B)
ans =
4 5
B 4 5
size(B(3,3)),
1 1
B(3,3) 1 1
2
@® ‘o A’ A AT
@ conj conj (A) A
A
©)
. A “om A’ AT
. A conj(A') conj(A)’ AT
il i 3 0
2-14 = 2-i 8gU
0 0
07 4 8+il
1= 2=7T
a=1 1 3;91i 2-1 8;7 4 8+i ;al=conj(a),a2=a"
al =
1.0000 0-1.00001 3.0000
0-9.0000i 2.0000 +1.0000i 8.0000
7.0000 4.0000 8.0000 -1.00001
a2 =
1.0000 0-9.00001 7.0000
0-1.0000i1 2.0000 +1.00001 4.0000
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3.0000 8.0000 8.0000 -1.00001
2.
® “ +n “* ” “ >I<n
@
6
a*b mtimes(a,b)
@ n " a”n mpower(a,n) n>0
n n<0 n n
) MATLAB
a d axd
atd=azxd* ones(size(a)),
a d
23 @55 61 2n
2-15 =5 4 10 =0 10 =0 2 8O +
] U | 0 U
[ 5 90 (2 9l 4 7 10

a=123;541;259 ; b=35:;61;29 ; ¢c=612;528:;471 ;

al =a+c, a2=a*h,
al =
7 5
10 9
6 12 10
a2 =
21 34
41 38
54 96
a3 =
28 26 21
54 20 43
73 75 53
a4 =
15 26 37
31 58 89
41 41 28

a* c#c* a

a3 =a* c,

a4 =c* a
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01 1-2i 3
2-16 =4+51 4 10 2 s
EZ 5 9i%
a=11-2i3;4+5141;259i ; ab=an2, a6 =a"(-3)
ab =
21.0000 - 3.0000i1i 20.0000 - 10.00001 4.0000 +25.00001
22.0000 + 25.0000i 35.0000 - 3.0000i 16.0000
+24.00001
22.0000 +43.00001 22.0000 +41.00001 -70.0000
a6 =
-14.1688 +1.01401 2.7604 -1.64711 0.0249 -4.42441
15.9971 +14.12631 -4.6676-1.2293i -4.7685 +4.62841i
-8.3077 +5.4108i 1.1303 -1.9393i -1.4797 -2.7074i
ar-3 an(-3) ar(-3) (a* a*
a)!
i 2 3p
2-17 =5 =L 4 10 a-d
2 5 of
d=5; a=123;541;259 ; a-d
ans =
-4 -3 -2
0 -1 -4
-3 0 4
3.
MATLAB
1 inv
ab ab=ba=E E a ab
b=a' a=b"! MATLAB a inv inv(a)
@ a
@ a a’’
2 pinv
b xbx =b  bxb =x Penrose

X b b, b{l,2},MATLAB X pinv(b)
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3
ax =b x=a'b  MATLAB
x=inv(a)*b x=ahl mldivide(a,b)
a’! b a\b a b
4
xa =b x =ba’! MATLAB
x =b* inv(a) x=b/a mrdivide(b,a
a’! b b/a a b
MATLAB
x=a\b lu(a) b L U a=LU y =L
\b x=UVy X
) 1+2i 8
2-18 :B4-5i 6 1U = !
0 3 5 9ill
a=51+2i8;4-5i61;3591 ; g=inv(a)
g:
-0.9538 +0.30061 0.5672 +0.9218i -0.3696 -0.78481i
0.3121 -0.97111i -0.9364 -0.08671 0.8728 +0.17341i
0.4393 -0.14451 -0.2591 -0.33121 0.1652 +0.25061
g*a a*g
3
0-4 -3 -2g o
2-19 =Uo -1 -40 =00 = =T
[l ag
-3 0 4 0 B0
- -1 - T 1
b=123 "; a= -4 -3 -2;0 -1 -4;-304 ; x=a\b mldivide
(a,b)
X =
-3.5714
5.7143
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y=b*/a mrdivide(b",a)

y =
-0.7857 0.3571 0.7143
4,
fa =) Ca a fa n
k=0
C, 2-4 MATLAB
2-4
expm(a) ea:l+li+éi+§i+ sqrtm(a) a
logm(a) In a unm(a,@ f a f(a)
funm(a,@ f) T f f
@
# 1 70
2-20 =4 7 90 4n
a 0
(L 5 30
3 5
g koA Mt 1 70 1[14 1 70 1D4 1 70
sn — = =bh 7 o. =Lk 7 o0+=Lh 7 ol +
= 2k+1 d O30 O 50 0
(L 5 30 (L 5 30 L 5 30
MATLAB
a=417;479;153 ; sina=funm(a,@ sin) funm(a, "sin")
sina =
1.9448 -1.9449 2.7397
0.3355 0.2606 0.8323
-0.7679 1.3640 -1.0660
2.1.5
MATLAB
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length
length (a)
@® a a
@ a a
6) a mxn
max(m,n) =max(size(a))
2-21 t=00.2 2.1
t=0:0.2:2.1;length(t)
ans =
11
size(t) t 1x11
2.
1
2
ab S 2-5
2-5
a. *b a b a./b b
a.n a n b. \a
a./s,s.\a a S s./a,a.\s a
M 2 3 B 1 2
2-22 =05 10 =05 2 g0 * * A A
s 0 s 5 a.*c a*c a.”"3 a
(2 5 9l 4 7 10

a=123;541;259

ac =

25

35

;c=612;528:;471

;ac=a.*c (

c.*a)
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MATLAB

acl =a* c

acl =
28 26 21
54 20 43
73 75 53

a3 =a.”3,a4 =a”3

a3 =
1 8 27
125 64 1
8 125 729

a4 =

206 294 364
238 318 364
574 826 1032
0l 8 27

2-23 =25 64 1%

u
08 125 2160
a=1827;125641;8 125216 ; a"2

ans =
1217 3895 5867
8133 5221 3655
17361 35064 46997

a.~(1/3)
ans =
1.0000 2.0000 3.0000

5.0000 4.0000 1.0000
2.0000 5.0000 6.0000

: " MATLAB “
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b, b, O (f: C> C30 b, d, d;g
a= a, a, a, bzgg b, Eczgm Cs CBE dzan de dGEMAT-
s b O (L, Cg Col d, dy dyO
LAB
@®a* b= a,b, +a,b, +asb, a,b, +a,b, +a,b, a* c,a*d,c* b,
c*d b* a,c*a d* a
@ c*d d*c c* d#d* ¢
©) c.*d d.*c a.*b,a.*c a.*d
@ c.*d d.*c c.*d=d.*c
®a.~3= a’alal b.73,c.”3,d.~3,c"3,d"3 c."3#cM3 d. A
3#d"3 a3 b”3
4.
= % f
=y, =f Y, =f X%,
2-6 X,x1 x2 m n
2-6
sin(x) sin x cot(x) cot(x) sign(x) X
asin(x) arcsin x sinh(x) sh x round(x)
cos(x) CO0S X cosh(x) ch x fix(x)
sec(x) sec x real (x) X floor(x)
tan(x) tan x imag(x) X ceil(x)
atan(x) arctan x abs(x) X Lem(x1,x2) 1 “2
exp(x) eX angle(x) X X2 x1
log(x) In x pow2(x) | 2* 0d(x1.x2)
log2 (x) log,x max (x) X median(x) X
1ogl10(x) logyox mean (x) X prod(m:n) nm(m+1) (n-Iyn, m<
sqrt(x) Ix sum(x) X {lactorial (x XX
X Y =F(X)
X X mXxn Y =f(X)
mxn Yy, =F(x,) p=1,2, ,mxn

MATLAB
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“ 2.2 ”
2-24 x=123549 Jx 2

b=123549 ; sqrt(b)

X
ans =
1.0000 1.4142 1.7321 2.2361 2.0000 3.0000
pow2 (b)
2X
ans =
2 4 8 32 16 512
2-25 G, GC CC m n
» A _mm-1 m-2 m- n-1 "
Cm_P_ 1x2x3x xn A m n

Cl =prod(10-(5-1):10)./factorial(b5)

Cl=
252,

C2 =prod(8-(3-1):8)./factorial(3) ,

C2=5 C3=21 C4=15
m

== 4
n m-n

a=5324 ;b=10876 ;C=factorial(b)./(factorial(a).* factori-
al(b-a))

C=
252 56 21 15
C, =252 C; =56 C:=21 C; =15
C =factorial(b)./factorial(a)./factorial(b-a) 4

MATLAB
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1
dot

dot(a,b)
@® ab
@ ab a,b
©) ab ab a- b
2

Cross

c =cross(a,b)

@a b c a b
c=a*b
@a b c a
2-26 a=0:0.2:3 b 0 5 a

a b a- b

a=0:0.2:3; b=linspace(0,5,length(a)); dot(a,b) a*b"

ans =
82.6667
2-27 =3.2 +51 +6 =71 +4 +2.4 =3 +5 +6 =8 +7 +4
X X
cross(a,b) cross(c,d) ,

a=3.25.16 ;b=7.142.4 ;c=356 ;d=874 ;A= a;c ;B=
b;d ;cross(A,B)

ans =
-11.7600 34.9200 -23.4100
-22.0000 36.0000 -19.0000
x =-11.7600 +34.9200 - 23.4100 x =-22.0000 +36.0000 - 19.0000

2.1

05 12 47 2 9n
1. 1:5&3 41 2% 22%6 15% MATLAB al* a2,al(:,1:2)
09 6 710 07 210
* a2 al”2 al(:).”2
2. 1 1 2 MATLAB al(1,:)"2
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al(l,:)."2 a2”2 a2.”2

3. a2 90 al 45 bl, bl 4 1 5
3 cl «c2 bl,cl,c2 bl(3 4, )*a2
4. al +5al'-E al’-rot90(al)® +6E,E al

@5 17 9 1
_EQ? 19 11 30U

5.
a29 21 13 5
(B1 23 15 70
6. s =5, s-al,s*al,s.*al,s./al al./s
7. al/a2,al \a2,al/a2’ a2 \al, a2/al
a2'/al
[? 1 4 -2 -1 '4D
M O0 -1 -3 O 10
B3 4 -2 -3 -40 Gos ot
8. _?ﬂ 5 g 6 3 128 MATLAB b ",b>,b'b
@ 0 -2 9 0 —BH
(h 6 8 6 9 120
0l 2 3 4p
Us 6 7 8U e, a1 1
9. =0 0 MATLAB c“,(c®) ', (Bc+5¢c)/5
HQ 10 11 12@
(13 14 15 160
ol i 3 [
10. =Lb 2-§y 8 U
1l g
a7 4 8+ilU
nl i 3 2 50
11. =0y 2-i 8 U0 =08 10 MATLAB a* b
O - O 0
a7 4 8+ill 7 9l
b*a a.*b a3 a.”3 b.”"3 b.~2
12 -2.57 8.87 1 ) b 5 q
) = ml =sign(abc),m2 =roun
-0.57 3.2- 5.5 gn(abe)
(abc),m3 =floor(abc) m4 =imag(abc
13. = 143208105 " = 800421911 °
14. =3.82 +5.71 +9.62 =7.31 +6.42 +2.48

2.2
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MATLAB

MATLAB
1/3 w

2.2.1

MATLAB

sl ="hello"

sl =
hello
sl
2
MATLAB
1
disp
disp(ZS)
@ VA

@ zS

blanks(n)
@ disp

Symbalic Math Toolbox

hello

YA

blanks
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@ n blanks(n) n
©) disp(blanks(n)") n
2-28 snt e Int te 0.1 w/4 t
0.2
sl ="sin t";s2 ="exp(t)";s3="Int";t= 0.1: 0.2: pi/4
l;%
s=" t sint exp(t) Int*"; %
disp(s),disp( tsin(t) exp(t) log(t) ) %
t sint exp(t) Int
0.1000 0.0998 1.1052 -2.3026
0.3000 0.2955 1.3499 -1.2040
0.5000 0.4794 1.6487 -0.6931
0.7000 0.6442 2.0138 -0.3567

disp( blanks(4) "t* blanks(9) sl1 blanks(5) s2 blanks(3)
s3 ),disp( t sin(t) exp(t) log(t) )

3
sprintf
sprintf ("z2",S1,S2, )
@ z
[ ]
. 81’82 13 ” 277
2-7
% e % g
% F % m. nf m , n
% d \n
@ S1,S2

©) VA S1,S2 VA
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2-29 e In5 eps

shju= exp(l) log(5) eps ;

zfch =sprintf (" e In5 eps\n % 9.3F; % f; he;",
shju)

zfch =
e In5 eps
2.718; 1.609438; 2.220446e-016;
e,In5 eps
2-30 sprintf “e=2.718 282e +000; e =2.718282; e=
2.7183;e=2.71828; e =2.718282¢e +000"

sprintf("e =%d;e =%T;e =%6.4F;e =%g;e =%he",exp(1),exp(l),exp(l),exp
@).exp(1))

ans =

€ =2.718282e +000;e =2.718282;e =2.7183;e =2.71828;e =2.718282¢
+000

“ g zn
sprintf disp

MATLAB M-

MATLAB

® o
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2
eval
@
@
®
@ “ ”
3
inline
fun2 1
fun2_1 =inline
® “ ”
@ fun2 1
€)
@ fun2 1(a a
®
3 5 2 . Ca
2-31 = g m:[ - 10 5] y; =f a, =a*+dn’a-e
1
A=3*pi52;7105 ; f1 =A."2 +sin(A)."3 -exp(-A) % Tl
fl=
88.8264 24.1115 4.6165
49.2827 99.8389 24.1115
—_f [f 3w f5 f271 1888264 241115 4.6165
N lf7 f10 f5 ]_[49.2827 99.8389 24.1115
f3r =2x 37 *+sn’® 37 -e % = 88.8264
f5 =2x 5%+sn° 5 e °=241115
2
f12 ="A. "2 +sin(A). "3 -exp(-A)"; % , A
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A=3*pi52;7105 ; f12_A =eval (f12) % eval ("A.”2 +sin(A)."3 -
exp(-A)")
fl2 A =

88.8264 24.1115 4.6165
49.2827 99.8389 24.1115

f2 =inline("x. "2 +sin(x)."3 -exp(-x)")

f2 =
Inline function:
f2(x) =x.7"2 +sin(x)."3 -exp(-x) % 2 (x)
A= 3*pi52;7105 ; f2(A)

M - MATLAB

syms  sym
1 syms
syms
syms al a2 a3 flagl
@® al a2 a3
al a2 a3
@ al a2 a3 flagl
©) flagl
positive—
real —
unreal—
flagl “unreal”
@ syms
2 sym
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sym
=sym(A,flag)
o) A
@ A
syms al
@ A flag
flagl flag
@ A flag
.
P
LT
e
flag re
sl ="hello" s2 =sym(sl)
s3 =sym("sl1l") s2
2-32 sl,s2 s3
sl,s2 s3

al =sym("al")

syms flagl

"unreal”

p/q

sym(Chello)

syms sl positive,s2 =sym("s2","real"); s3 =sym("s3");

sl,s2

s3

slr =real(sl),slm =imag(sl),s2r =real (s2),s2m =imag(s2),s3r =real (s3),

s3m =imag(s3)

slr =
sl
sim=
0 slr slim
s2r =
s2
s2m =
0 s2r  s2m
s3r =
1/2* s3 +1/2* conj(s3)
s3m =
1/2* i* (s3 -conj(s3))
2-33

sl

s2

s3r s3m s3

s3=1/2,s4="1/2",s5 =sym(1/2)
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s3=1/2, s4="1/2", s5=sym(1/2)
s3 =
0.5000
s4 =
172
s5 =
172

whos s3 s4 sb

Name Size Bytes Class
s3 1x1 8 double array( )
s4 1x3 6 char array
sb 1x1 130 sym object
s4 s5
2-34 ad ax’ +c af ax® +bx*- ¢ =5

ad =sym("a* x"2 +c")

ad =
a* x"2 +c
syms a x ¢c,as =a* x"2 +c

af =sym("a* x"3 +b* x"2-c=5")

af =
a* x"3 +b* x"2 -c =5

whos
a class(a)
a 2-33 s3,s4 S5
s3 =class(s3), s4 =class(s4), s5=class(sb5)

s3 =
double
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s4 =
char

s5 =
sym

cl="1/2"; «c¢2=sym(3/7); b=cl+c2

b =
13/14
cl =class(cl),c2 =class(c2),b =class(b)
cl=
char
c2 =
sym
b =
sym
diff
f="sin(x)”2"; fl=sym(f); dfdx =diff(f) dfdx =diff
(f1)
dfdx =
2* sin(x)* cos(x)
f f1l
symsum(s,"n",h,k) s n
h k S

s="x/(1 +2”n)"; sl =sym(s); symsum(s,"n",1,3)

??? Function "symsum® is not defined for values of class “char”.
symsum S sl
symsum(sl,*n",1,3)
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39

2.2.3

@
@

2

ans =
29/745* X

Symbalic expression

syms ¢l ¢2 c¢3,B= ¢l 3*c2; c¢3-cos(cl),c2

B =
cl, 3* c2
c3 -cos(cl), c2
sym
sym
sym(A)
A
A
a
Jsnx X0 0Ll 515 6450
-35 fi=g g d1=g3 .
%}—g asin xg sn4 /3 9 O
1 fj

fj =sym(" a/sin(x),cos(x);b-x/5,a* sin(x) ")

fj =
a/sin(x), cos(x)
b-x/5, a*sin(x)
dl
d=1/3 5.12,6.45;sin(4),sqrt(3),9
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d=
0.3333 5.1200 6.4500
-0.7568 1.7321 9.0000
d2 =sym(d) %
d2 =
173, 128725, 129/20
-6816670871723694* 2~(-53), sqrt(3), 9

dl =sym(® 1/3,5.12,6.45;sin(4),sqrt(3),9 ") %

dli =
173, 5.12, 6.45
sin(4),sqrt(3), 9

2.2.4
1.
2.
subs
subs(B,old,new)
B old new
» 236 asn bx a+b
_ v2c
e™ Ix

g=sym(" a* sin(b* x),a+b;exp(a* x),sqrt(x) "); %

g(l,1)="v2c" g =subs(g,g(1,1),"v2c") % g

v2c, a+tb
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exp(a* x), x~(1/2)

2-37 3 a”2* sin(x) a
syms a x,subs(a”2* sin(x),a,magic(3))
ans =
64* sin(x), sin(x),36* sin(x)
9* sin(x),25* sin(x),49* sin(x)
16* sin(x),81* sin(x), 4* sin(x)
a 3
2.2.5
1.
02 s§nal 0% cosbOl
2-38 1=gb g 2=8b g 1+ 2 1 2
h* 5 0O ez 8 U

sl =sym(" a/b,sin(a); b"3,5 "); s2 =sym(" 4/b <cos(b);a"2 8
"); sl +s2

ans =
a/b +4/b, sin(a) +tcos(b)
b~3 +an2, 13

Ss =sl* s2, sss =sl1.* s2

ss =
4* a/b”2 +sin(a)* a”2, a/b* cos(b) +8* sin(a)

4* pn2 +5* an2, b”"3* cos(b) +40
SSS =

4* a/b”2, sin(a)* cos(b)
bn"3* an2, 40
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B inv(B) B!
2-39 2-38 1 1 2

inv(sl)

ans =
5/(5* a-sin(a)* bM)* b, -sin(a)/(5* a-sin(a)* bM)*b
-brM/(5* a-sin(a)* b™M), a/(5* a-sin(a)* b™4)

sl/s2

ans =
a* (a* b* sin(a) -8)/(cos(b)* a”2* b -32),(cos(b)* a-4* sin(a))/(cos(b)*
an2* b -32)

b* (6* a”2 -8* b”3)/ (cos(b)* a”2* b - 32), (cos(b)* b™ -20)/ (cos(b)* a

2* b -32)
2.2.6
e log In
1.
1
factor
factor(S)
S S
0 X 2X 0
o0 X -5x-6 X-2x+10
O X +X X+1 O

O +2x +1 X +x 0

k=sym(* x/(x"2-5* x-6),2* x/ (Xx"2 -2* x +1); (X2 +x)/ (x"2 +2* x +1),(x +1)/ (x*
2+x) ");



2 MATLAB 43

factor (k)

ans =
X/ (X +1)/(x-6),2* x/(x-1)"2
x/(x +1), 1/x
factor(s) s sl =3x*-10x +8

syms x, s1 =3* x"2 -10* x +8;s1 =factor(sl)

sl =
(B3*x-4)* (x-2)
2
expand

expand(S)

S S

x+1 ° sn x+y
2-41 =
ety cos X+Yy
A=sym(" (x+1)"3,sin(x ty);exp(x ty),cos(x +y) "); expand
A

ans =

XA3 +3* xM2 +3* x +1, sin(x)* cos(y) tcos(x)* sin(y)

exp(x)* exp(y), cos(x)* cos(y) -sin(x)* sin(y)

3
collect(S,"v")
S ‘v ‘v
“x",S
2-42 Xy +xy - X - 2 ey 3e
4 16

syms x y, collect (x"2* y +y* x - x"2 -2* x)

ans =

(y-1)* x"2 +(y -2)* x

f=-1/4* x* exp(-2* x) +3/16* exp(-2* x);collect (f,exp (-2
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* X))
ans =
(-1/74* x+3/16)* exp(-2* x)

2.

1

limit(F,x,a, "right" “left")

@ F(x) X—a limF(x)

@ a a=0

©) right X —a LinF(x) left X —a
Iir_nOF(x)

2-43 |im7€:a@

syms x ma,limit((x*(1/m) -a~(1/m))/(x-a),x,a)

ans =
ar(1/m)/a/m
Iiqu'%=E
—a X-a ma
2
diff(S,"v",n)
@®
@ v X, t
6 n n=1
@ S V. n
®
sin 0Z 0Z
2-44 zZxy =xye’"™ X ay

syms Xy, z=x* y* exp(sin(pi* x* y));diff (2)

ans =
y* exp(sin(pi* x* y)) +x* y"2* cos(pi* x* y)* pi* exp(sin(pi* x*
y))
J0Z

8—)(:yeSin ™ 1+ Xycos Xy diff(z) X



2 MATLAB 45

diff(z."y")

ans =
x* exp(sin(pi* x* y)) +x/2* y* cos(pi* x* y)* pi* exp(sin(pi
*X*y))
gézxf“”w 1 +mxycos mxy diff(z,"y") y
Inz gn
2-45 = g = ZZZ] z
-cosz €

syms z, A= log(z),sin(z); -cos(z),exp(2*z) ; diff(A,z)

ans =
1/z, cos(2z2)
sin(z), 2* exp(2* z)
diff(A,z,2)
ans =

-1/z2"2, -sin(z)
cos(z),4* exp(2* z)

symsum(s,n,ny,n,)

@ s
@ n n s
“x" findsym(s)
@ ngy,n, N, 1 Ny, N,
n,=1,n,=n-1
@ s No N,
. Xn+1 k-1 )
2-46 n;) -1 Xzzlx

syms x n,symsum ((-1)*n* x* (n+1) / (n+1),n,0,inf)

ans =
log (1 +x)
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=log 1+x

syms k,symsum(k”2,1,k-1) symsum(k”2)

ans =
1/3* k"3 -1/2* k”2 +1/6* k

k-1
21,5 1,2 1
Xz:lx —3k3 2k+ k

6
4,
f taylor
taylor(f,n,"v",a)
@ f
@ n f (n-1)
©) Vv x tf
@ a f =a X-a
® a a=0 v =0 f
n n=6 f X 5
2-47 e X 5
syms x, taylor(exp (- x))
ans =
1-x+1/2* x"2 -1/6* x"3 +1/24* x4 -1/120* x"5
X __a 1. 1:. 14 15_,. 1, 1, 1. 155
e "=1 x+2x 3x+4x 5x 1x+2x 6X+24X 120x
2-48 In xy y-1 5
syms x y, taylor(log(x*y),6,"y",1)
ans =

log(x) +y -1-1/2% (y-1)"2 +1/3* (y -1)"3 - 1/4* (y - 1)"4 +1/5*%
(y-1)"5

In xy :Inx+y-1—% y-1 2+% y-1°3- 1

4

y—14+% y-1°
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2.2
1. x 0.01 w4 0.1
oosx Inx X Jx
2. t=0.53e 12 ft :ts-t%ﬂs'nte"-g?
3.  x=-23-0241rx4e8 flx =232 +230Xx 30
3x X
1 5dnx 3 3 ,5dnx
— + g€-9 3 x =4x - + e€-9
¢ X X X
dnx- cosx  Inx? osx 1-Inx
4. 1= , = MATLAB
e X +5 e - X
al ',al +a2,ala2,al/a2
5. 4 al 1 2 1+Inx 2 2 X
6. x+1 %+ x-13-2¢
7. fx =Incos(%)+ X -2x+3 e *+dnx’
. . Z
8. Dz=dn x- cosy Qu=acsn—————
9. n=10 y 2
x=1 X
5 Xn+1
10. x=3 5
n=1n+:L
11. f x =sn¥X +cosx In x+a  shx x-3 4
2.3
2.3.1
1.

MATLAB
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MATLAB
X,Y,Z =sphere(30); surf(x,y,z),box
2-1 MATLAB
2-1 File Edit
View I nsert Tools Desktop Window
Help

14

New Figure

File Open File

Save Figure

Print Figure

Edit Plat

Todls Zoom In

Zoom Out

Rotate 3D

IRl Colll T8

@ figure(n)
I (]

Eile I B Bt Drds eSSt G Bes
GE 2°T | EnaEn g AE =50

[&] ]

2-1 MATLAB
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n figure(n)
n
| M w Windows
@ MATLAB
subplot(m,n,p) m,n,p
m n m xn p
p m xn

subplot(m,n,p)
subplot(1,1,1)

=] Save as

untitled | EEGD|

12

‘. fig”

2.3.2

1.

plot MATLAB
plot(X,"S")
plot(X,Y,"S")
plot(X1,Y1,"S1",X2,Y2,"S2",...,Xn,Yn,"Sn"),

1 plot(X,"S")

® X X

X X
©) X  mxn , n , n ,
X
6) X mxn , n , n X
@ S



50

MATLAB

2-9
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® S “ *"linewidth",n” n
& Edit
2-49 1 1=12545361
2 yl=1815y2=5349
y3= 3534
1 1 plot
yl=1254.5361 ; % yl
subplot(1,2,1), plot(yl, "linewidth",2), grid
2-2
2 1 2 3 3
o 5 3g
3 5U
4x3 2:% O
1 4 30
O ad
(5 9 4l
x2=1,5,3;8,3,5;1,4,3;5,9,4 ; subplot(1,2,2),plot(x2), xlabel("x"),
ylabel ("y")
2-3

6

S 63 | /\
s e N
4 Lo\
\

\

\

N

/ (5.3)
25 |
: \ _. o,
2.2 \ aff L3
1.5 / (71)\ _.'I s
) (1,1 > |;' : L
0 2 4 6 8 :
2-2 2-49 1 2-3 2-49 2
@ grid
@ xlabel ("x") vylabel('y") X

2 plot(X,Y,"s"
1 X,Y X Y
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2 X Y X Y
Y X
Y X
3 X,Y , X Y
MATLAB
X X=X, X, Xg y=f x
y plot y=f x
2-50 plot x=f t =e’'dn t te 03w
t t=00.2 0.4 3 x=ft

t=0:.2:3* pi; x=exp(-t).*sin(t); plot(t,x)
2-4
2-51 snt e‘costte 03w t 0.02

t=0:.02:3* pi; x= sin(t);cos(t).* exp(-t) ; t=size(t),x =size(x),
plot(t,x)

2-5 tx
0.35 1 T T T
03 0.8
0.6
0.25
04}
0.2 . 0.2
0.15 0
o1 —02F1
—04f
0.05 okl
0 . —08}
~0.05 -1
S} 2 4 6 8 10 0 2 4 6 8 10
2-4 x=ft =e'snt 2-5 snt e ‘cost
t =
1 472 t 472
X =

2 472 X 2 x472
t t
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3 plot(X,,Y,,"S1",X,,Y,,"S2",...,Xn,Yn,"Sn")
n plot(X,Y,S) plot(X,VY,S)

2-52 yl=10cosx xe 0 3w y2=€"* xe

x1=0:0.2:3* pi;yl =10* cos(x1); x2 =0.5:0.3:8;y2 =exp(pi -3*
X2);

x3 =1:0.3:9;y3 =6./x3; subplot(2,1,1);

plot(x1,yl,"r* -",x2,y2," +g:",x3,y3," -.sk"), ...

legend("10cosx”, "exp(pi -3x)","6./x")

2-6 a
0 -1<x<0
2-53 y X =
1 0<x<1l5
subplot(2,2,3),plot( -10 , 00 , 00 ,021 ,01 , 11 ,"linewidth
.,3)1---
axis( -1.21.5 -0.52 ),
2-6Db
2-54

subplot(2,2,4),t=0:pi/100:2* pi; y=exp(i* t);plot(y),axis("
square”)
2-6c
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@ legend “ "
@ axis xmin,xmax,ymin,ymax X y
® plot 2-53

2-6 b
x1=-1:0.1: 0 y2=0: 0.1: 1;x3=0.01: 0.1: 1.1;
plot(x1,0* x1,0* y2,y2,x3,x3./x3,"linewidth",3),axis( -1.2 1.5 -
0.5 1.5);

@ 2-6 subplot
subplot
G 2-54 axis("square")
2.
plot
1 fplot

fplot(*fun®,lims,"S",tol)
@® fun M —
fun
@ lims lims= a,b,c,d X

—*—10cosx
— —+—-exp(pi-3x)
-G--6./x

2 1
L3 0.5
1,
0
0.5F
ol 05
705 1 L L L L _] I 1
1 05 0 05 1 15 1 <05 0 05 |

(® (©)

2-6 subplot 2-52~ 2-54
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y Xe a,b ye c,d c,d
©) S plot
@ tol 2e-3
® fun
@®
©) X
2-55 -Tom e *sinx
“sin” M —

fplot(“sin®, -pipi ,"r+")
2-7
X

fplot("exp(-x)* sin(x)", -pipi )

2-8
F il !

1
% 1
14} "I
1K | .|.._ J.‘

S

2-7 2-8 e *sinx

fun exp(-x)* sin(x) M-
sin sin(x) exp exp( - Xx) X - exp

* sin

2-56 y=€ y=3dnx y=x Xe -mm

fplot

fplot(® exp(x),3* sin(x),x™2 ",pi* -1 1 -1 1)
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MATLAB

Edit
Insert legend("exp(x)","3sin(x)","x"2")
2-9
2-9 e 3sinx X
2 ezplot
ezplot ( "func™,lims)
® "func*" M-
@ func f(x) y =f(x)
lims
- 2w 27w
©) func f(x,y) f(x,y) =0
lims = a,b,c,d Xe a,b ,ye c,
d c,d y X
Xt =
@ func [y ¢ = func Crx(t) T, ty ()T
telims= a,b

6) lims ab Xe -2
2

©

t
2-57 cosx ft =t3+12et2'tte -4 4
ezplot
ezplot cos
2-10 cos M - X
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X t
yt

ezplot("t"3 +2* exp(t)/(1 -t"2) -t",

2-11

Cos

ezplot

u® +V¢ =9uv

1 fuv

ezplot("un3 +v~A3 -9* u*v")
2-12

r=sn

=sn3tcost
=sn3tsint

4,4 )
42 exp(£)/(1—12)—t
60t .
40t
201
ol
0l
_aol
-60
-4 - 0
t
2-11 £e 2y
1-t
r=sn 3t
=0 u®>+Vv: - 9uv=0

ezplot u"3 +v”"3 -9* u* v

X =rcost
SO

y=rsint

ezplot ("sin(3* t)* cos(t)","sin(3* t)* sin(t)", O0,pi )

ezplot sin(3* t)* cos(t) sin(3* t)* sin(t)

2-13
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w+v3-9 uv =0 X=sin(3 #)cos(r), YV =sin(3 #)sin(¢)

3.
MATLAB 2-10 2-11
help *“ graph2d’
2-10
stem (x,Yy) bar (x,y)
stairs (x,y) fill (x,y)
pie (x) plotyy (x1,yl,x2,y2) y
2-11
polar(6,p) 06— p—
loglog(X,Y) logl0 X—Y
semilogx(X,Y) X logl0 Y
semilogy(X,Y) X Y logl0
2.3.3
MATLAB
1. hold

hold on ( hold)
hold off ( hold)
hold “ ? hold hold off
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2. clf
clf
3. grid
grid on grid
grid off grid grid

4. title(" )

5. xlabel (* ") ylabel (" *)

6. legend(™ *," ", ,k)

k -1 ;0 ; 1,2,3
k k=1
legend
legend off
7.
I nsert arrow
textbox rectangle ellipse
3 Edit
8.
MATLAB

Word

D Edit Copy Figure

Word
2
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2.3.4

MATLAB 3

plot
Xe Y &
plot3 (X,Y,Z,"S")
plot3 (X1,Y1,z21,"S1",X2,Y2,Z22,"S2", ,Xn,Yn,Zn,"Sn")

) Xi,Yi,Zi i=1,2, ,n
Xe Yo &
©) Xi,Yi,Zi i=1,2, ,n
©) Si i=1,2, ,n
y=snx
2-59 xe 020
Z=COS X

X =0:0.05:20; y =sin(x); z=cos(x); subplot(1,2,1), plot3 (x,y,z,"
r."),grid
2-14 X 0.05

2-60 135 251 54
3x2 plot3
x1=15;25;51 ;yl1=231;54;42 ;z21=55;14;51
subplot(1,2,2),plot3(x1,yl,z1,"r"),grid,box

2-15
box
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2

o
-
N (@)
> < =
o o
x — ~ N
n X Lu -
N -
. ~
o
- > N
(@) n
< >
N O n
' I — N <
~
O T =
B ~ |l N 0
| I_/u_\ ~ 1 n_mu
x
N o — (@]
N < >
‘» Mv N ogood
N T N n N e < c 1 — ™M O
~ o) o - O N (&S]
c
> - iy
= £ 1
1
~ b
y ~
~ L0
1 = (qV]
n -
ST T T 7T T T T T T T T T T g 5
el c I
\r\\\...\..v‘.l.\\\\w\\\\\r\fﬂ\j () ~ ~
\\. \\ \\ 7 N -
e = r-———A
\\\.. s Aty o o™
ASY SR A—— S =
s ./ s s z < N —
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oo =S . N I
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\ o\ %) (%) N n ©
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x=1 3 ;y=5 2 5 ;Z=4 1;2 3;0 5

subplot(1,2,1),mesh

(x,y,2), box

2-16
2-16 122 323 355
122 z 2
Zy1,2y L 1 X X X, =1
2 Y y y, =2
1 2 21 2 3
2-62 = = = mesh
31 3 5 51

4

o)

X=12;31 ;Y=21;35 ;7Z2=23;51

subplot(1,2,2),mesh(X,Y,Z), box

2-17
4 122

(3.3.,5)

= W

WO = N W

213 335 151

mesh
mesh Z=F(X,Y)
z, =F(X,,Y,).p X-Y
z;; =F(x5.Y; mesh
z=f xy xe ab ye cd meshgrid
(X;,Y4)

X,Y = meshgrid(x,y)
X,y

xX,Y m Xn

length(x) =n,length(y) =m,m

n
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©) y X,Y = meshgrid(x n
X3X5 53X axn Y =X
mesh
©  z=f(x,y) Z=f(X,Y)
@ mesh(X,Y,Z) mesh(Z)

4
2-63 zzl-%-%xE ~1.515 ye -11

Xx=-1.5:0.4:1.5;y=-1.0:0.3:1; X,Y =meshgrid(x,y); %
mesh(X,Y,zeros(length(y),length(x))),hold

Current plot held
2-18 XY

Z=1-X.2/9-Y.22/4, mesh(2)
2-18

2
2 -64 z:X—-ng -22 ye -33

X=-3:0.2:3;y=x; x1yl =meshgrid(x,y);

subplot(1,2,2),z=x1.72/2 -y1.722/3; mesh(z),box
2-19




64 MATLAB
mesh(x1l,yl,z) mesh(x1.72/2 - y1.72/3)
2-63 2-64
3.
mesh
mesh
surf(z,C)
surf(x,y,zZ,C) X,y
surf(X,vY,z,C) X,Y,Z
mesh X,y
size(Z) =length(y)* length(x);X,Y,Z
, , C=2z
2-65 surf 2-62
x=12;31 ;y=21;35 ;z=23;51 ;
subplot(1,2,1),surf (x,y,z),box
2-20
2-66 z2=X13+y’ 14 Xe -33 ye -33

Xx=-3:0.3:3;y=x; x1,yl =meshgrid(x,y);

subplot(1,2,2),z=x1.72/3 +y1.722/4; surf(z),box
2-21
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2.4 MATLAB

MATLAB CC++

M,

2.4.1 MATLAB

[ File — New — M-File

B UntitLed r:_“ﬁlml
EFile Edat Taxt Call Taels Deahug Deasktop I'.ln:_l-uw Halp -
D o= - - - (& M r. BR "
i
zorpl 1 Cod
2-23 MATLAB
2.
M-
Edit Text Debug Help
13 2-14

File
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MATLAB

File

New / M- File M-

Open M-

Save M-

print

Edit

cut

Copy

paste

Undo

Redo

Find text

TEIESF~b DY D

Show function

il

De bug

Set / clear breakpaint /

Clear dl breakpoints

2.4.2

“ %n

“ gy

MATLAB M-
script file M —

MATLAB

“ gy
conment unconment
“ g

“ C I fn

“ . ml
function file

MATLAB

Mf
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y=f a =a’ +sn’a-e?
M,
@
@
% A a
% y =f(a) =a”2 +(sin a)”"3 - exp(-a)
clear % , clf
A=input(" A=) % A
fl ="A."2 +sin(A)."3 -exp(-A)="
disp( A."2 +sin(A). "3 -exp(-A) )
©) = save file as N
“112_67" s
@
1i2 67, debug — Run
A=
3* pi52;7105
A=
9.42438 5.0000 2.0000
7.0000 10.0000 5.0000
fl =
A.7~2 +sin(A). "3 -exp(-A) =
88.8264 24.1115 4.6165
49.2827 99.8389 24.1115
1i2 67 M- A
input 1i2 67
2. M-
MATLAB M -
MATLAB sin, log
O M- %
function y =T (x) X
y f.x vy f M-
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@
©) M-
M- glodbal
glodbal al a2 a3 al,a2,a3
M —
error("message")—
warning("message”)—
M —
2-68 M — a y=f a =a
sn*a-e®
M —
@
@
% A a ,

% y=f(a)=an2 +(sina)”3-exp(-a)
function f1 =1i2_68(A) %
1l =A.22 +sin(A)."3 -exp(-A);

©) 2-67 ©) li2_68
@ 2-67 @
fl1=1i2 68(A) f1 1i2 68 M-
A
3 5 2
:[ m ] a y=f a =a*+sn’a-e*
7 10 5
y=1i12 68( 3*pi52;7105 )
y:
88.8264 24.1115 4.6165
49.2827 99.8389 24.1115
2.4.3
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1 0 1 T O F
0 1
MATLAB “ ” 113 ”
2-15
2-15
= = < >
~ = < = > =
M 2 3g
2 -69 1:%156%2:5 3= 1= 2 =
7 8 90

al=123;456;789 ; a2 =5; a3 =al >=a2
a3 =
0
0
2.
xor 1 T
0 “©o F 2-16
2-16
& ~
| Xxor
0 1
MATLAB

A,B
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2-17
2-17
A B ~A ~B A&B A B xor(A,B)
1 1 0 0 1 1 0
1 0 0 1 0 1 1
0 1 1 0 0 1 1
0 0 1 1 0 0 0
0 -5 0 90
2-70 4=08 .2 6 oU« 4 0
0 O
(0 o 7 80U
a4 =10 -509;3 -2060;00578 ;ab=-~a4,a6 =xor(a4,0)
ab =
a6 =
2.4.4
MATLAB
1.

while-end
2-18

2-24

MATLAB
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0 while-end
2-18
- T
end F(0)
end
2-71 3 nf > 10° m 2
n=1
Yt =1+22+3+ +nf while-end
n=1
clear
a=0;n=1;
while a<le4 %
a=a+n™2; n=n+1; %
end,m=n-1,a % m,a
Debug — Save and Run M —
m:
31
a:
10416
for-end
2-19 225
)10
for EHIOREIA R
end
TR
2-25
1 1 1 1 1 1 1g
04 5 2 3004 5 2 30
2-72 :Dz 2 2 2D=|:| O
5¢ 2 3% alG 25 4 9@
y* 53 28 30 [B4 125 8 270
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clear
a=input(" a=");
n=length(a);
for k=0:n-1 %
D(k+1,:) =a.”k; % D k +1
end, D
“r1i2 72"
1i2 72
a=
4523
D=
1 1 1 1
5 2 3
16 25 4 9
64 125 8 27
2.
MATLAB
1 if-end
2-20 2-26
2-20
if
end
2-26
1 end
2-73 x=0 0.3 4 y =x’ - 2sinx
for-end if-end
clear,disp(" X y =xX"2 -2sin x") %
for x =0:0.3:4 %
y =x"2 -2* sin(x); %
ifyaQ

disp( x,y ) % X
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end
end
2 ifelse-end
221 227
2-21
if
A
else
B
end B LA
A .
2-27
1 A 0 B
2-74 n y=n’- n*snn>100 “y
>100" “ y<100°

clear,n =input("n=")
ifn?"2-n"3* sin(n) <=100

"y < =100"
else
"y >100°
end
3 ifelseif-else-end
2-22
2-28
M,
2-22
if 1
Al
elsaif 2
A2
) elseif
esef
dse (1)
A
end i |i§’ﬂéﬂA1 | |i§’£UZEA2 |

end
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2-75 y=x'-19x% +32
y
clear,x =input(" Xx=") % X
if xM-19* x"3+32 9 % y
a="negative"
elseif rem(x™4 -19* x"3 +32,2) = =0% y
a="even"
else
a="other”
end
2-76
2-76 36 100
p q n g- 2n
4
% . P q,
clear,p =input(*" p=");q=input(” qg=");
n=1; % 1,
while 1 % while 1
ifrem(g-n*2,4)==0& (n+(q-2*n)/4)==p
break %
end
n=n-+1;
end,
disp(” *).n,disp(” ").p-n
p =36 q=100 n=22, =14
disp sprintf “sprintf (" %d |,
% d , % d ,% d ,pgnp-n)",

smart indent

4 Switch-case-otherwise-end
2-23 2-29
case i
case Ai case i

An
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switch “ ”
case
2-23
switch
case 1

Al

case

case 2
A2
otherwise

An /_)QHAI |

end

clear,x =input("x="); %

y =x"4 -19* x"3 +x +32 %

switch mod(y,2) % y 2

case 1l % 1
disp(” ")

case 0 % 0
disp(" ")

otherwise
disp(” ")

end

% a0 bo

clear,a0 =input(*a0 =");b0 =input("b0 =

a=ceil(a0);b =Fix(b0);

y=x'-19x° +x +32
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k =0;
form=a:b
forn=2:m
if rem(m,n) == % m n
break
end
end
ifm== %
k=k+1;c(k)=n;
end
end,c
“prinum”
“ function ¢ = prinum(a0,b0)”
C M- M-
2.4.6
M —
1. input

a=input("Please input a number *)
Please input a number
a
a=input("Please input a number *,"s")

Please input a number S
a
2. pause
pause
pause(n n
3. keyboard

return
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4. echo
M —
@ M - “echo
M- M-
@ echo on
echo off
5. break
6. /
£
k
M —
2.4
@ 8 5 0p
(3 4 2 70 ; ‘ )
1. 1=0 02=1 1 2 1
El 6 1 4%
O 1 0 30
180 “ "
2. 1 1 1- 1!t Loome
20 20 63
3. 1 N,=Yn 2N =n 3N =32
n=1 n=1 n=0
4.
disp(® X y =x"2 -2sinx")
for x=1:5
y =x"2 -2* sin(x);
disp( x,y )
end
@ X y X2 X. N2
@ y
@ disp( x,y ) end
d 4 16 64 4 4 44
h 5 25 1250 0h 5 52 530
5. M — =4 =0 U
g2 4 8H5122223H
A 3 9 270 0h 3 32 330
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2

X x<1

6. fx ={2x"-1 1<x<10
3% x=10

7. 86.4 157.9

x=-38

f x

max — min
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MATLAB

3.1
311
1.

s t s

st =gt®/2 g

st St St -st
2.
t S



MATLAB
X" X X"
* = — =1l+x+—+ +— +
€ n; 0 1+x 5 o
m
n m-1 _n n
z X . X _ 2 X
n=0 n n=0 n n=mn
4.,
e T
3.1.2
1.
X" X X" - X
absolute error
a X =x"-X
X" =x+ae X
—_— X" ae
S
l[ae x | =|x" - x| <s
X X" X-S<X" <X+S
X" X S
X" =Xz%s
c= 2.997925+0.000001 x10% cm/s
2.997 925 x 10" cm/s 10* cm/s

2.

1000
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80
100 1
relativistic error
_ae X" - X
re x =———="—
X X
X" ae X
X _X"-
re x = =
X X
1000 100
1/250 1/100
e
ae X X" - X
[re x | = ‘ ‘ = ‘ ‘ s
X X
e X
ae X S re x
_ s
o=
| x|
3.
X*
X X
X" =e=2.718 281 828 459 045 “ K
x1=2.71828 ael e =0.0000018 sl =0. 000 005
xX2=2.7183 a2 e =0.000021 £ =0. 000 05
X S X
n X n x1 6 X 5
X
x=0.d,d,d, d, x10°
d, d, d 0O 9 d, #0
— * 1 p-n
lae x | =|x —xlsixm
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s:% x10P "
x=0.23157 x10 "2 5
|x* - x|ss:%><10'2'5:%><10'7
3.2 MATLAB
3.2.1
10
0.0032416  852.176
0.32416 x10°? 0.852176 x10°
x=+ 0.dd,d, d pg=% dp*+d,8 %+ +dpg ' p°
©p B =10 B=2
B =16
@p L U L=sp=sU
3 0.d,d,d, d, d, d, d, d, x#0  d,#0
@ t d, O0<d<pB-1i=12 t

0.0987450 2843.54912 pB=10 0<d <B-1=9i=12
0.98745x10°*  0.284 354 912 x 10°

x=0.3127 %10 ° y=0.4153x10"*
X+y~0.0031x10 *+0.4153 %10 “=0.4184 x10"*
0.8961 x10° +0. 468 8 x10 °~0. 896 1 x 10° +0. 000 0 x 10°® =0. 896 1 x 10°

“ ”

3.2.2 MATLAB

1. MATLAB

MATLAB
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D — 16
15
@ -
vpa a,m a m m
32
€) — digits(n)
2. MATLAB
MATLAB 16
10 3-1
) File — Preferences Text display
Numeric format 10 K '
@ format +
3-1
3-1 format
4
short 12. 566 4
short e 1. 256 6e + 001
short g
long 100 12. 566 370 614 359 17
0. 001
long e 1. 256 637 061 435 917e + 001
long g 12. 566 370 614 359 2
rat 1420/113
bank 12.57
hex 402 9211054 442d18
+ + -
12. 5664
3-1 MATLAB a=0.5+9/7
format long, a=9/7 9.5
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3.3

3.3.1

a =
1.78571428571429 ( )

bl sym(0.5); b2 =sym(9/7);b Hl H2

b =
25/14

b sym(0.59/7)

b 6 20
bl wvpa(b,6),b2 wpa(bh,20)

bl =
1.78571

b2 =
1.7857142857142857143

vpa(0.5 9/7)

ans =
1.7857142857142857142857142857143
a
class

X +62.1x+1=0

X +2px+q=0 X, ,=-pxt Vp'-q

32
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X, = - 0.016 107 23 x, = - 62. 083 90

x, = -0.02000 X, = - 62.10

19.46% X, 0. 025 9% p’>|q|

4 X, = - 62.10 X, -

X, = q/%, x =1/ -62.10 = - 0.01610

3.3.2

1.

x>1 IX+1 - X

1
IX+1+Yx

2. 113 ”

x=12652+0.5+0.3+0.4

12 652
12 653

3.

P, x =ax"+a, X" "+ +ax+a,
k k 0 n n+1 nn+l /2 n

X = ax+a,, x+a, , X+ +a, x+a,
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85

4.
1- cosx
sin x
5.
1
E, =f X'e¢ldx n=12 9
0
1 1
E, =x"e"'| - nj x"'etdx=1-nE,, E, =1/en =12
0 0

E,=1-nE,, E,,= 1-E, In
n
10°° |ee E, | =9 x10°°>3.6
n

3

1 Xx=1991+10 y=1.991+0.0001 z=0.000 199 1 +0. 000 000 1

2. MATLAB 10 J2
7

3, [ 3 e ™ 6

sn5 In4
A 11
' 6251 6252
5.

1 1-Xx 1
1+3x 1+x X<t 2 «/X+x_ «/X_xx>>1

3 1gx, - lgx, X, =X, 4 17082X, 1 yx0

9

sin x
1 +cosx

lee E, | =



f x =0
f x 4-1
X 4-1
4-1 f x
4-1 e *-sn wx/2 +Inx=0
4-1 f x f x =P, x =ax"+a, X"
axX+a, 4-1
P, x =ax"+a, X" '+ +ax+a,=0
P, x n 23 4-2
n=5 Galois
4-1
f x =0 MATLAB
f x =0 MATLAB
4.1 =0 MATLAB
MATLAB f x =0 solve
solve(sl,s2, ,sn,"vl®,"v2", ,"vn")
solve (s1,s2, ,sn,"vl,v2, ,vn")
z1,z2, ,zn =solve (sl,s2, ,sn,"vl®,"v2", ,°vn")
@® sl,s2, ,sn fx =0 f x
@ vi,v2, ,vn
z1 z2 vli,v2, ,vn
©) z1,z2, ,zn
vli,v2, ,vn
@
® vpa

1



2)7)

4 fx =0 87
4-1 ax +bx+5=0 X
sl =a*x"2 b*x b " ; % T(x)
sl fa*x"2 b*x b H°"; % f(x)d
sl sym("a*x"2 b*x H7); % T(x)
sl sym("a*x"2 b*x 6 9"); % f(x) 9

x =solve

X =

1/2/7a*( b (b2 20*a)~(1/2))
1/2/7a*( b (b2 20*a)~(1/2))

b solve("a*x"2 b*x 6","b")

b =

(s1)

} x12:i - b+ /I - 20a

2a

b solve(sl,"b")

{a*x"2 6)/x
x o[ TX
4-2 e —sm( 2)
x solve("exp( x) sin(pi*x/2)") solve("exp( x) sin(pi*x/
X =
.44357353410429277965457309417668 32
X +x/5=-1
4-3 x+37 =4
yz+1=0

s1 =x"2 sqrt(5)*x =4";s2 Fx 8*z"24";s3 Ty*z4 9";
uvw solve(sl,s2,s3)

u=

4/2 1/2*57(1/2)
172 4/72*57(1/72)
1/2 4/2*57(1/2)
1/2 1/2%57(1/2)
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1/76*(54 6*5~(1/2))M(1/2)*( 9 67(1/2))
4/76*(54 6*57(1/2))M(L/2)*( 9 57(1/2))
1/44%(42 6*5~(1/2))MN(L/2)*( 7 57(1/2))
4/44%(42 6*57(1/2))M(L/2)*( 7 57(17/2))

1/6*(54 6*5~(1/2))"(1/2)
1/6*(54 $*57(1/2)) (1/2)
1/6*(42 6*5°(1/2))"(1/2)
1/6*(42 $*57(1/2)) (1/2)

u=vpa(u,5),v =vpa(v,5),w=vpa(w,5)

-61800
-61800
4.6180
41.6180

-80599
80599
=73076
73076

1.2407
4.2407

1.3685
4.3685

4.2 =0

f x =0 ab f x x° f x* =



f x a be ab
fafhb <0 a b X" X"e a b
4-1
a+b
bl:T ab
ab b, b
ahb
b, b fb =0
4-1 X" X" e
ab, ab,
n
a, b, X" e a, b, 4-1
ab>ahb Dab O Da b D
bn-an:b-na n=12 n—
b,- a, —0 X" n
_% D, fx =0
X =5 X, =
X - X* ~1b-a_b-a
n \2 2n 2n+1
b- a
Xn € €<2n+1
n
4.2.2
1.
f x =0 fx =x-gx =0
X=g X 4-3
g X 4-3
X1 =0 X k=012 4-4
X
Xe =X X1 X% Xi 4-5
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I!im g X -%. = 0gx° -x" =fx"* =0
X" 4-1
2. Y
y=x
f x =0 X = 0 y=g)
g X 4-2 y =X = B
g X P’ X" 4-5 9 .
X, y=g %  Yy=P ~
y =X Q Q x X y ¥
=g x P, y=g x 0 77 -
P, P, P X 4-2
X, X, Xi 4-1
X" Yy=X Y=g X
3.
4-5
X=g X ab X"
@D xe ab gx e ab
@ g x g<1 Xe ab g x |<q<1
@ X=g X ab X
@ %19 X% ab X X’
©) Xy
qk
|X* _Xklsmlxl_xol 4-6
@ X=g X X X" =g X y*
y =gy
IXT-yTl=lg x -gy [=]g & xT -y [salx’ -y | fe X7y
@ X, e ab Xe ab k=012
X" - Xl =19 X7 =g % =19 & X" - x [<alx” - x|<d X" - X, | <
<q@ X" - x| fe % X
g<l k— [X* - X4y | ™0 l!imxk=x*
©) p

|Xk+p' Xkl = |Xk+p' Xk+p»1| + |Xk+p-l - Xk+p-2| + + |Xk+1 - Xkl

— 3
|Xk+1'Xk|—|g Xe =0 Xeoq |$Q|Xk-xk-1|$ sqlxl'xol
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LR AR R PR Y R R PR A L R PR R AP
1- P
= A 4L - x| = T 1% - %!
-q
qk
p— |X*-Xk|$ﬂlxl-xol
f x =0 X=0g X
g X X"
4.2.3
1.
f x =0
f x
f x X,
fll
fx:fx0+x-x0f'x0+x-x022X°+ 4-7
f x
fx =fx + x-xf x =0
f %, #0
f X%
X = -
Xo X
f x X, f x fox #
0
_ f x,
T X,
X,
Xirr =X = = k=012
X
4-8 X, X, Xy
2.
4-3
Xo Xo f Xy y=f X (@] Xx* x| ;o
y-fx = x-% f X X
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fX0 fxl
X1 Xl:XO-W X; f X1 X X, =X f X]_
X Xy X, Xy
X*
3.
ab fx #0f" x
Xo fx fx >0
. . f x
fx =0 fx = x-xf x f x #0 X=X-
f' x
f x . fxf"x o '
g x =x- g x = x=x" f x* #0 g X
f x f' x 2
=0
f X, f x
Korr TXm Xy 9% = fx Xen =9 %
gx x
_ g x S -2
Xk+l_g Xk _g X +g X Xk X + 2 Xk_X
g x* =0 Xs1 =0 X, =0 X +g ;( X - X ? X' =g x
" X*
Xk+1_ g X* :Xk+1_ X* _g 2 Xk X* ?
f x f" x
g" x° f x g x = 2 Fxt =0
ffx
-~ X
f x”
fu X* . 2
X+ -X* = X 479
K 2f x*
f" *
|X* 4-9 ¥
2f' x y=1(x)
(X0,.f(x0))
4.2.4 e,
: X
o) X X2 X X0
f'ox,



4 f x =0 93
Xy = Xeq
Xerq =X, - f x k=012 4-10
AEERAEE B K
4-4 X % y=f
X X X, X, fx X, T X%, X
X3 X X
4.3 =0 MATLAB
MATLAB
4.3.1 roots
4-2 roots
roots(p)
@
P, x =0
@ p P, x =ax"+a, ,x"'+ +ax+a, a, a,
a &
€)
4-4 X=X +1
roots(1 40 4 )
ans =
1.4656
0.2328 ©.79261i
0.2328 ©.7926i
4,.3.2 fzero
f x =0 f x MATLAB f x

fzero
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MATLAB

fzero(fun,x,,options)

D) fun f x M-
@ Xo X X
fx X fx fx <O
©) options optimset("disp", "iter") op-
tions
@
plot
fplot ezplot f x
4-5 X’ +4sin x =25 - 2w <X<2mw
1 fx =

X +4sin x -25=0

clf,ezplot x x,grid,hold,ezplot("x”2 4*sin(x) 25")
4-5
Current plot held

x2+4sin(x) 25

1(5) \
AN /

X, =-4 X=5
2 fzero X, =~ -4
x1 fzero("x"2 4*sin(x) 25", 4)

x1 =
4.5861

fzero ("x”2 4*sin(x) 25", 4,optimset("disp","iter"))

Search for an interval around 4 containing a sign change:

Funccount a f(a) b f(b) Procedure



4 fx =0 95

initial inter-

1 4 5.97279 4 5.97279 val

3 3.88686 4.17961 4.11314 4.77907 search
5 3.84 7.68241 4.16 4.28931 search
7 3.77373 8.39553 4.22627 8.60199 search
9 3.68 9.40652 4.32 2.64161 search
11 3.54745 40.8364 4.45255 4.30909 search
13 3.36 42.8437 4.64 0.519124 search

Search for a zero in the interval 3.36, 4.64

Funccount X f(x) Procedure
13 4.64 0.519124 initial
14 4.59027 0.0408288 interpolation
15 4.58604 9.62876e 005 interpolation
16 4.58605 4.13699e 008 interpolation
17 4.58605 4.61853e 014 interpolation
18 4.58605 0 interpolation
Zero found in the interval 3.36, 4.64
ans =
4.5861
-4
3 X, =5

x2 =fzero("x"2 4*sin(x) 25",5)

X2 =
5.3186

f=inline("x"2 4*sin(x) 25"); x1 fzero(f, 4),x2 fzero(F,5)

x1 =4.5861 x2 $.3186
4-6 xX* +4sn x =25 M-
fzero
1
function yy 4i4 6(x)
yy X2 4*sin(x) 25;
1i4 6
2
fplot("li4 6", 66 ),hold,ezplot x x,grid
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3 -4
x1 =fzero("li4 6", 4)

X1l =
4.5861
x2 fzero("1i4 67,5) 5
4.4
f xy =
f, =
4-11 X Yo
f, xy f, xy Xo Yo
of, X Yo af, X Yo _
ax X=X + ay Y-Y =
af, X Yo af, X, Yo _
ox X=X, * ay Y-Yo =
oft X Yo o of X Yo
~ X a9y
° af, X, Yo af, X, Yo
oX ay
afL X Yo
——  f
) 1 ay 1 X Yo
X =Xyt
0 afZ XO yO f y
ay 2 XO 0
afL X Yo
Y, =V, +i B x
VR, af, X, Yo
foXo Yo —
4-11 f, xy f, Xy X, Y1
4711 13 ”
dx =f xy *+ f,xy ?

'flxoyo

-fZXOyO



4.5

fsolve F(X) =0 X

fsolve('fun',X0,0PTIONS)
) fun M- @
M- F X =0 F X
@ X0 X0
X0 X" F X" =0 X0

6) X0
@ OPTIONS
help
help
X,FVAL,EXITFLAG =FSOLVE(FUN,X0,...)
X,FVAL,EXITFLAG,OUTPUT =FSOLVE(FUN,X0,...)
X,FVAL,EXITFLAG,OUTPUT,JACOB =FSOLVE(FUN,X0,...)
X +y* +z+7 =10x
4-7 xy* =2z X =1y,=12=1
X +y +7 =3y
1 M- F X =0 X
y z
function ms di4_7(X)
ms(1l) =X(1)72 40*X (1) X(2)"2 X(3) ¥ ;
ms(2) =X(1)* X(2)"2 2*X(3);
ms(3) =X(1)"2 K(2)"2 3*X(2) X(B)"2; % ms
“1i4 7" M-
2
fsolve("li4 7", 111 )

Optimization terminated: first -order optimality is less than op-
tions. TolFun.
ans =
1.1042 1.3485 1.0039

x =fsolve(@ 114 7, 111 ,optimset("Display”,"iter"))

Norm of First-order Trust-region
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IterationFunc-count f(x) step optimality radius
0 4 516 204 1
1 8 176.027 1 91.5
2 12 9.8406 1.74719 10.2 2.5
3 16 0.376941 0.730715 1.34 4.37
4 20 0.00485028 0.221391 0.183 4.37
5 242.10753e-006 0.029966 0.00419 4.37
6 284.28134e013 0.000625014 1.94e 006 4.37
7 32 1.8541e026 2.78852e007 4.09e 013 4.37

Optimization terminated: first -order optimality is less than op-
tions. TolFun.

X =
1.1042 1.3485 1.0039
MATLAB solve
EBx=cos yz +0.5
]
4-8 2x°-81 y+0.1 ?+snz+1.06=0 % =0.1y,=0.1
H 10
He Y +20z+om =1
3
z=-01
f,(x,y,z)=f(X)=0 j=123 X
X(1) =x X(2) =y X(3) =z yy3 =f(X) =f;(x,y,z)
1 function yy3 di4_8(X)
yy3 (1) 3*X(1) €0s(X(2)*X(3)) ©.5;
yy3(2) 2*X(1)"2 81*(X(2) ©.1)"2 sin(X(3)) 4.06;
yy3(3) =xp( X(1)*X(2)) RO*X(3) 40*pi/3 4;
“1i14_8"
2
fsolve("1i4 8", 0.10.1 0.1 )
ans =
0.5000 0.0144 0.5232
solve
4
1. X-x-1=0 x,=15



99

1 1
1 x:1+;5 X“1:1+;E
2 X=xX+1 Xy = 14X
> 1 _ 1
3 X = Mo = x - 1
2. “solve” “ roots” “ fzero” X - 2x% - 4x=7
3. X +2%° +10x =20
4. 1-x=s8nx
5. x=30%
X
X2
6. snx+1="— -4 2
2
1
7. cmx—iﬁsnx
8. 4x + e =sinx
X +y/2+1=0
9. X+3z=4 x=1ly=-1 1z=2
yz+1 =0
snx+y +Inz=7
10. 3x+2y-Z+1=0 x=0y=2 z=5

X+y+z=5
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5.1.1

n nx1

5.1.2

ij

Cramer

MATLAB

X, Xy Xg X
[PauXe TapX +  +a,X, = by
D —_—
[PaXy taxX +  +ayX, =b

O
O
[b’mlxl X+ +taX,=b

m

mxn = bk mx1

mx n+1

#0 5-1

= § 1= SS § X =
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1.
@® =0 R
<n R =n
@ = R =
R n
o R =R =n
° R =R <n
° R <R
2.
@
=0
r=R  <n n V, S s
n-r
R =n
@
R =R =r<n -
B o O .y =0 n-r
B+k1al+k2a2 + +kn»ran»r k1 k2 I(n-r =
R =R =r=n B
R <R

5.2
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521
= R =R =n Cramer
= 8, n | | =det 0
A, _ B
X = et h=12 n 5-3
Ay, n b det h
5-3
5-3 n+1 n n
n n N= n+1 n-1
5272
1.
1
5-1 det #0
Pn Qp a, le
— - 1 a'22 aZnEbZB
EER PO
O o0
|:anl a'n2 annian
1
a,; #0
a,; [ i>1 a,l/a;, i=2
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(A Qe a, b, 0O
j0 e al b'f
O: O
0 ) L O
Lo an2 a‘nn bn O
azzl #0 61221 ii>
(aizllazzl) i=34 n
an azzl ae;j aﬂif no1 70 n-1
Pu Qo a;, bl 0
90 e a b g
u: : a
U |
DO 0 an: 1 bnn 1 |:|
2
2
n n-1 n k k
Ay n- k n-k+1l n-Kk n-k+1 n-k
n-1 n-1
N, =Y n-k+1 n-k +3 n-k
k=1 k=1
n-1
N, =Y n-k+1 n-k
k=1
h=n-Kk
n-1 n-1 n-1 n-1
N, = Yh+2YhN, = Yh+>h
h=1 h=1 h=1 h=1
n-1 1 n-1 1
Zh=5n n-1 thzgn-ann-l N, N,
h=1 h=1
n-1 n-1 1 3 2
N=N +N, =2 h +3¥h=2n-1n2n-1 +_nn-1 ==-n° 5-4
h=1 A=l 3 2 3
n+1 n-1
2.
k k ast ok

1<k<n k
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1
k k=12 n-1 k a, !
2
k k=12 n-1 k a, '
[ak:_l akl:<-l O
n-k+1 E : E
CAy N
53
53.1
2 n-1 =
n-1 n-2 1 = n-1 on-2
n-1 n-2 1
[ﬁ11X1+a,12X2+ +a1nxn:b1
E am X+ +a, X, =b)’
|
D an:'l Xn :bnn-l

5.3.2

n-1 n-2

X, =b" ' /a !

1
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N —_—
[y

1
OomoOod

=
F\J)_

ool

Cholesky

Crout

>0

Dodlittle
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5.4 MATLAB
54.1
1. rank
c =rank (A)
C A rank (A) A MATLAB
0o 2 2 1
O- 12 30
>-1 -O g 2 iD
| i O
o 2 12 40
a=221;3123;8 21;2124 ; rank(a)
ans =
2
2. null
=0 mxn n
@ R =r=n
@ r<n n-r r<n
=0
MATLAB xnull(A) =0
null
@D R =r<nn
@ =0 n-r =
n-r
® A
x null(A) null(sym(A))

null
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X+2y+2z+w=0
5-2 2x+y-2z-2w=0
X-y-4z-3w=0

a=1221;21 2 2;1 4 4 3 ; r=rank(a)

2
2 n=4 4-2=2
c=null(a)
CcC=
0.7177 0.0286
0.6084 0.2725
0.0857 0.6241
0.3277 0.7317
c'*cC
ans =
1.0000 0.0000
0.0000 1.0000

cl =null(sym(a))

ol =
2,  5/3
2, 473
1, 0
0, 1
'=kE +kn =k, 2 -210 " +k, 5/3 -4/301 " x:%k2+2kl y=
4 _ _
ook 7= wek Kk £ 1
5.4.2 MATLAB
1.
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@® = ! x sinv(A)*b
@ x A hb
©) x ssym(A) lsym(b)
x At  x=inv(A)*b MATLAB
b B
(#X+y-5z+w=8
Bk - 3y- 6w=9
5-3

%y-z+2w=-5

[k +4y- 7z+6w=0

1

A=21 51;1 30 ;02 42;14 76 ;b=89 50 °;
c rank(A) =rank( Ab )

Cc =
1

r n=4
rank(A) =4

ans =
1

XX =A b

XX =
3.0000
4.0000
4.0000
1.0000
x=3.0000 y=-4.0000 z=-1.0000 w=1.000 0

=0 = =0 null
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X+y-3z-w=1
3x-y-3z+4w=4

X+5y-9z- 8w=0

A=11 3 4;3 4 34;15 9 38

;b=140 ";Ar rank(A),br rank( A
b )
Ar =
2
br =
2
R =R =2
n=4
2 = =0
n-r=2
null(sym(A))
ans =
3/2, 3/4
3/2, 7/4
1, 0
0, 1
3 =

Ahb

Warning: Rank deficient,rank 2 tol =
ans =
0
0
9.5333
0.6000

8.8373e 915.

sym(A) hsym(b)

Warning: System is rank deficient.Solution is not unique.
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ans

N

4

P

4
I o
wlt ¢ o o
I O O

+
o e
s N o -
o e
x5

+
OoOoooooOoooda

™M N M AN — o
O0OO0O0O0Oo0Oo0ad

<

x
1
OoOoOooOood

“oRdoMod

Ao

MATLAB

2
3

1

X-2y+3z-w
3x-y+5z- 3w
2X+y+2z- 2w

|

a=1 23 4;3 45 3;212 2

;b=123 *;

ra rank(a) rbrank( ab )

ras=

rb =

<R

aho
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Warning: Rank deficient,rank 2 tol= 5.4751e 915.
ans =
0
0.9048
0.7143
0

sym(a) hsym(b) “inf”
sym(atb)
0 19721 5/7 0

0.904 8~19/21 0.714 3=5/7
sym(ahb) sym(a)hsym(b)

543
MATLAB
1 lu
MATLAB
A lu
L,U =lu(A)
L,U,P =lu(A)
@ A
@ L,U L L
U A=LU
® L,U,P L U P
PASU
M 4 2 3
5 1 0 20
5-6 =0 O
EZ 4 3 Oa
0 2 1 6
a=1423;5102;2430;0216 ; mu du(a)

m=
0.2000 1.0000 0 0
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1.0000 0 0 0
0.4000 0.9474 1.0000 0
0 0.5263 #9.0476 1.0000
u=
5.0000 1.0000 0 2.0000
0 3.8000 2.0000 2.6000
0 0 1.1053 3.2632
0 0 0 4.4762
m
m*u
ans =
1.0000 4.0000 2.0000 3.0000
5.0000 1.0000 0 2.0000
2.0000 4.0000 3.0000 0
0 2.0000 1.0000 6.0000
mlul p du(a)
ml =
1.0000 0 0 0
0.2000 1.0000 0 0
0.4000 0.9474 1.0000 0
0 0.5263 #9.0476 1.0000
ul =
5.0000 1.0000 0 2.0000
0 3.8000 2.0000 2.6000
0 0 1.1053 3.2632
0 0 0 4.4762
p:
0 1 0 0
1 0 0 0
0 0 1 0
0 0 0 1
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ml*ul
ans =
5.0000 1.0000 0
1.0000 4.0000 2.0000
2.0000 4.0000 3.0000
0 2.0000 1.0000
p*a
2. Cholesky chol
A L
chol
chol (A)
@ A
@ A L LLT=A
€) A
1 2pg
5-7 1=0 2 oO
0 H
(2 0 90
al=112;120;209 ;cl=hol(al)
cl =
1 2
2
1
cl"*xcl
ans =
2
0
9
a'==a ones(size(a))

2.0000
3.0000

6.0000
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[ 4%, - 2X; +3x, =6
X; +2X%, +3%; =2
%xl +2x, +4x, =2
1 g 2 (2%, +3X, +4x, =3

[BXy - X +2%, =1

] 3X; +4X, +4x; =3

[k, +2x, +2x, - 3x, =8

10°°x, +10°°x, +X; =2 x10°° X, - 2X, +4X, =56
3 {10°°%, - 10°°%, +x, = - 2x10°° 4 2% +8X, +X; = - 4

X, +X, +2%, =1 20X, - X, +2%X, =74

0.5%, +1.1x, +3. 1x, +1. 1x, =9. 85
0.5x, +1. 1x, +3. 1x, =6. 0
FD. Ox, +4. 5x, +0. 36x, +0. 1x, =0. 37
5 [ 6 |6.5%, - 5.78%, - 8.7x, = - 40. 8
05. Ox, +0. 96X, +6. 5x, +2. 5%, =9. 71
0 5. 0%, +0. 96x, +6. 5%, =0. 96
LD. 6x, +2. 5x, +0. 55x, +0. 4%, =3. 44

o1 0.25 340 dp
O . O
5-025 1 -0.25 S0 on
7 O ~0.25 1 -0.25 %ﬂ:&ﬂ
0 O do
O -0.25 1 -0.250% 0 MmO
0 H oo
O -0.25 1 0 0
2.
B 7 3 n-2 1 0 O
O 0 O
1 % o1 o2 2 H1 -2 1
H H H H
B 2 60 0o 1 -20
10 5 4 2 14
A1 1 1 o1 10 3 27
2 3 40U 0-2 -1 10 4 30
3 Sl O 4 0O 0
1 3 6 100 0-3 -2 -1 10 5 40
U O 0
b 4 10 200 5'4 -3 -2 -1 10 SH
U.5 -4 -3 -2 -1 10U
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6.1.1

6.1.2

MATLAB
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a,#0 i=12

12

:dlm all a22

=27#0

U
ol

MATLAB
- - = 4+ -
ann
= ' 4 +
+ k+ = -1
Jacobi
-1 + k+ '1b:
1 -5 1
-3 0 -eU
0
2 -1 ZH
4 -7 60
a; #0
0 0 0 op
-1 0 o0 ot
0
0 -2 0 OE
-1 -4 7 0O
-1/2 5/2 -1/2
0 0 -2 U
0
2 0 2 g
-2/3 7/6 0 O
v J=12 n
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_ 1 . _ _
o a—( > a k,-+bi)'-12 n 6-5
ji
K i K K I
6.1.3
Seidel 6-5 .
k+1 i K K j J=12 n K+1 | |>1
k+1 i k+1 i-1 k+1 1 k+1 2 k+1 i-1
k 1 k 2 k i-1 " i-1 k+1 1
k+1 2 k+1 -1 k 1 kK 2 kK oi-1
6-5 K i-1 Kl i-1
1 i-1 n
kel | a__(' & ke Zau k j+b|) =12 n 6-6
ii j=1 j=i+l
i-1 n
& o T & oy j T zaij v th i =12 n
j=1 j=i+l
- ke1 = kT
K+1 = - ! T - ! 6-7
- _ -1
6-7 6-1
1 5 1
= = .-.=0
EO 2 2 20
O 1 5 130
D "6 6 8-
= - -1 :D 0
b .15 .10
3 3 3u
O O
Ep 7 3B BQ
3 36 36U
6.1.4
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1.
I k=012 = 1+
_ -1
6-2
1= +
, = + = ot + = 20+ +
k
k+1= k+10+ k+ k1+ + + - k+lo+2 n
n=0
lim k=0 6-8
lim “=0 p <1
p :lnmlAi|<1 6-9
o)
2.
n =X X X,
|| || 13 ”
@® —1 II=0 #0 I | >0 =0 | I =0
@ — a la [ =lal| |
® — 0 =1 + |
(I
n
1 1-
Iolla= X+ %+ # X =Y x|
i=1
2 2- Euclidean

n

1/2
||2:N/X§+X§+ +Xi:(2xi2)

i=1
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I =max X, | [%] X, |
" 1/p
I R T L A S D
p=12
3.
1
[
1 =1 [ (-
mxn n
l IIZWBXJ—[L: Xl 6-10
<0 | | x| =1
Il (.
=0 10 1l
n n [
[~ pl p2 M m
Ml ezl e=m| |n 6-11
2
1 1-
m
Il=ma( 3 la) )
2 —
I = (3 la))
3 Frobenius F-

Euclidean Schur
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I 1= (X Y 1a1°)" 1<p<

i=1 j=1
4
= T p " Hermite .
I = Vo °
4.
1
A
A =
YN I I A TR E= I PY
<I 0 p =m|xnl n
p I
o=l 6-12
2
6-12 p = max|A| <1
sIsn
I <1
” ” <1 K+l = k+ k— k—>X*
k
b= e s o e
6. 2
6.2.1
n n A =A A
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n
det -A =0
det - A A n
A n
=A n
n
6.2.2
QR —
1.
n
1 - T :/\
A A
A =diag A, A, An ;=12 n A
J Aj
_[a b _[cosg -sSng 1T
b ¢ - sn e CoS @ - -
cos sin
. ¢ ¢ o= ~ L ctan 2b 1
-dngp cose 2 a-c
1 _[ cose sing;[ by cose -sn¢] [ ]
-sing cospllb c/lsne  cose !
L a' a’
COSgp] -sShng
! sng cos ¢
n n

a; =a; #0
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k—

o1 _ T _
ij ij i = ij ij - 1
T_ T T_ T T _ T _
R R N | i 1
1 ¢
11 _
1 ij - i —O
k K
K
e 70 P K
T — —
pg k pg T k+1 6-14
K+l _  k+l _
pq I =0
2 3 A
Ff
N\
Schmidt n
= 6-15
1= 1 1 1
1= 11
_ _ 1
= 117 1 11 2 3
_ T
kK= k k k k-
. k=12 6-16
k+1 = k k— Kk Kk k
12 K
_ -1 -1 - _ -1 -1 -1
K k= & k-1 k-1 k-1 k— — k k-1 101 1 2 K
— -1
12 K+l = k1 k
=12 K= Kk k
12 K k#l— 1 2 K k k
12 k-1 k k— 1 2 k1 okl k1 k= = 1 ¢ K=12
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— —_ — - 2 — — k
k k— 1 2 k k k-1 1= k-1 k k-17— 1 k-1 k-1~ 1 k-2 k-2 = - 1
12 K K K ‘I: Kk
k — k
e
k— 12 k
6. 3 MATLAB
MATLAB
help
“ matfun "
6.3.1
MATLAB
1. det
MATLAB det
det(A)
A A [A]
2. poly
det - A A
poly
P=poly(A)
) A
@ P A
® roots(P) A
3. eig
MATLAB eig
xr =eig(A)

xr =eig (A,"nobalance™)
eig(A)
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@®
@ A
® A
@ X r A
® A
-2 1 1
6-2 3=0 0 2 oU
0O O
0-4 1 30

a3 = 211;020;413 det(al)

ans =
4
a3 |a3 | =4
P =poly(a3)
3 0 4
P a3 poly2str

P1 =poly2str(P,"y")

P1 =
yA3 3 yn2 4
Y’ - 3y +4=0

roots(P)

ans =
2.0000
2.0000
4.0000
a3 22 -1
eig
eig(a3)

ans =

nobalance”
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2
xr =eig(al)
X =
9.7071 9.2425 0.3015
0 0 0.9045
9.7071 9.9701 0.3015
r=
4 0 0
0 2 0
0 0 2
3 eig
xr =ig(sym(al))
X =
1,1, 0
0,4, 4
1,0, 1
r=
4,0,0
0,2,0
0,0,2
6.3.2 qr
qr
qr =qr(a)
qrp =qr(a)
@ a
@ q,r q
q'q=E r a qr =a
©) qrp q r
axp=qxr
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e TN
N PN

RN A

A~ P

W

0 b
[ |

A2=12413;51274;62148

qgr =qr(A2)

1.0000
0.0000
0.0000

ql,r1,p =r(A2)

ql =
9.3180
0.4240
0.8480

rl =
9.4340
0
0

p:

O O O O
o B O O O
o O B O O

0.9501
0.2986
0.0905

2.4130
1.7825

©.0000
1.0000
0

0.2429
0.9010
0.3594

6.6780
4.6265

o O O+ O
O O O O -

0.2850
0.7125
0.6412

2.5400
3.2936
4.9237

0.0000
0
1.0000

0.9165
0.0916
0.3895

2.9680
0.4712
3.4596

4.6200 9.0170
0.7782 2.3797
2.7074 1.4249
2.7560 4.5260
0.3036 2.1056
4.1456 0.9623



128 MATLAB
gl*rl
ans =
3.0000 1.0000 4.0000 2.0000 1.0000
4.0000 7.0000 2.0000 1.0000 5.0000
8.0000 4.0000 1.0000 2.0000 6.0000
A2*p
ans =
3 1 4
4 7 2
8 4 1
A2* p A2 p A2
A2*p=ql*rl
lu chol qr
MATLAB svd
Schur schur Hessenberg hess
help * matfun ”
6.3.3
1. norm
MATLAB
norm
norm(A,ex)
A
Dex 1 A 1-
@ex 2 A 2-
@ ex inf A
@ex -—inf A
A
Dex 1 A
@ex 2 A
@ ex “ fro” A F-
@ex inf A



6 129

2.
P
max (abs(eig(M)))
02 2 3N
us 4 -60
6-4 “01 4 2O =
[l il
U3 5 70
§s=223;54 6;142;357 ;
sl =norm(s,1),s2 =norm(s,2),s3 =norm(s, "fro"),sd4 =norm(s, inf)
sl=
18
s2 =
10.8040
s3 =
14.0712
s4 =
15
U t
6-5 =
41 1 H g
Ug 5 U
c=1/2 2/3;1/41/5 norm(c,inf) max(abs(eig(c)))
ans =
1.1667
ans =
0.5164
1. 1667 p =0.5164
6
1.

4 s 2o do
5 2 CHEH

3
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X
y y X y=F X
F y X F
3
@D X Yy y=f x =x’+snx
@ X y
©) - Xy
¢ X F x
b X =F X ¢ X
7.1
y=F x 7-1 X y
7-1 =
X Xo X1 X Xn
y Yo Y1 Y2 Yn
Xe ab é X

D¢ x ~F x xe ab
@¢ x =y i=012 n
¢ X F x Xy X1 X, X,

b X

P X =gy tax+ax + +ax

¢ X
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7.1.1
1.
y=F X y=Fx i=0123 n
7-1 Xo X; X, X,e ab n+1 Yo Va
Y2 Yn n
P, X =g tax+tax + +ax = Y ax 7-1
=0
©) P, % =y, 1=012 n F X n
2.
n+l a i=012 n
X=X X0 % X Yo¥1 Y2 Y @ p, x =
y, i=012 n a, n+1
B taX TaX T +aX =Yo[
aO +a1Xl +a2Xi + +anX:rl.] =ylH
0 7-2
aO +a1Xn +a2X$1 + +anX2 :yn|:|
7-2
P, X = Yax =y j=012 n
i=0
Vandermonde
1 % % X
1 x X X!
Xo X X X =, .1 .l .1 = X=X 7-3
: : : : O<i<j=sn
1 x, X X"
X Xo X3 X, X, #0
7-2 n+1 Xo X4 X,
X, 7-2 n+1 a n
p, X n 7-2 =}
7-2
7.1.2
Lagrange Newton
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1.
y=F X 7-2 7-2 =
n=1 p, X =a, +ta;x X X %
@ y Yo Y1
[ao+alxo:yo
a0+a1X1:y1
_yo'yl( yl'yo) _ _ Yo- V1
a, = = -a = .20 7
LT X | X - % B =Yo - X% =Yo XO_Xlxo
& &
1 Lagrange
a a4 pp X =3, +aX
p. X =Y, _1+y _X°=ny+ny 7-4
1 OXO_Xl lX:L_Xo 0™~0 1=1
X- X X - X,
L, x = Lo, x = X
0 Xo‘X1 1 Xl‘Xo XO 1
p. X
Lagrange
2 Newton
& & P X =3, +a,X
_ Y- Yo _ .
P X SYot " X-X =Yt X-X F X X 7-5
X1 - %o
_yi_y' _
F X X —ﬁ y=F x X X
7-5 Newton
2.
y=F x 7-3 7-3 =
n=2 P, X =a,+ X Xo Xy Xa
ax+ a2X2 @ Q y Yo Y1 Y2
7-2 n=2 Xo
X, %, Vandermonde V X, X X #0
1 Lagrange

Lagrange
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P, X =Y I—o X +y1|—1 X *Y, L2 X 7-6
p, X L x i=012
1 x=x
L, x =
0 x XF#X;
i=0 Ly X X=X X=X L, X
X=X X-X L, X 2 Lo X =A X- X%
- % X=X Ly % =1 A=11 X=X X=X
L, X L, X L, x -7
X- X, X-X
L, X = L 2 E
Xo = Xy Xo = X% i
X-X, X- U
L, x = 2 X% o 7-7
Xy = % X, = X 0
X - x-x U
L2 X = XO 1 D
X2-X0 X = Xy t
77 7-6 Lagrange p, X
2 Newton
Newton
p, X =A+B X-X%X, +C X- X, X-X
@ P, % =Yo A=p, X =Y
X =y
Y1- Yo
B=="-—"==F X
- %, 1 %o
F X X
P X =Y,
C= Y- Yo _ Y1- Yo :F X, X 'Fxlxo
X, - X X, - X, X, - %o Xy - Xy X, - X,
F X x -F X X
F X X % = 7-8
X; = Xy
Newton
P, X =Yoo+ X-X%X F X X, + X-X%X X-X F X X %X 7-9
3.
1 Lagrange n
y=F X n+1 Xo Yo X1 Y1 X, Y, Xn Yn

7-1 Lagrange
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n
n
P X =¥olo X +yl X +yl, X+ 4yl x = Yyl x 7-10
=0
-7 X Lagrange
L x = X- X X-Xiq X=Xy X- X0 _ ﬁ X=X 7-11
X - X% Xi= X1 X=X X - X, =0 Xi = X
i
w X = X-X, X-X X- X, ;xi = X - X X=X X=X X - X,
X - X
7-11 L x = L = @ X_ n  Lagrange
i=0 Xi'Xj X=X w X
j#i
7-10
d w X
X = — 7-12
Py 2 M-
2 Newton n
Newton n
_FX0X1 Xn-1 'Fxl X, Xn
FXxo X % X = o %, 7-13
7-13 F x Xi X
F X x N
X = X
F x Xi X X
F X x -F X X
F X X % =
X = X
F x X X X Xy
F x X X -F X X X
Fox X X X, =—""— A
X - X,
n
P X =Yoot X=X F X X + X-X X-x FXxxx + +
X - Xo X-X,.1. F X X X, 7-14
7.1.3
n p, X F x R, X
R, x =F x -p, X 7-15

p, X =F x +R, X R, X n p, X
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1.
F x
DF x ab
@F x n+1 Xe ab
_ _Fn+1 é:
R, X =F x -p, X ST Al @ X
Wy X = X=X X=X x-% =]J] x-x
i=0
x=x i=012 n whe X% =0 R, X
Xe ab
R, X
Gt =Ft -p, t -———w,,, t
Whiq X
ab X G x =0
Gx =0 ab n+2 Gt =0
Gt
ab n+1 Gt =0 Gt
ab t=¢ G" ¢ =0
n+1 n+1l Rn X
G & =F & -—"——n+1 =0
Whiq X
7-16
2.
7-16 Frtog é
ab [F"™ & | M |F"™ ¢ |<M
M
IR, X |s—— 7 lony X |
7-17 M p, X
IR, x | F x M
7.2
R, x Py X
n

Runge Faber



7
-1
= 17302 10 P, X P
X 7-1 X
P, x P X
x=0.9 Py X P, x F x
7-1 F x P, x Py X
7.2.1 Hermite
F x
F x X ab n-1 n
a=X, <X <X, < <X, ,<X,=b
X, F x F x =y, F'Fx, =m i=01
2 n H x
DOH X =y, H x =m i=012 n
@ X X, 1=012 n-1 H x
H X =&, +a;x+8,X" +a,x
H x Hermite
7.2.2
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F ab n+1 a=X, <X <X, <  <X,.,<X,=b
F =y, i=012 n n+1 Xo Yo
X1 Y1 Xo Yn ab S x
DOSx =y, i=012 n ©)
® S x X X, i=012 n-1
S X =a,+a;X+a,X +a,x 7-18
@Sx S x "X ab
S X S X Sline
S x n &)
i S x =a, ta,x+a,xX +a,x n
4 n 4n &, a; a,
a, =012 n-1 4n
S X @ n+1
Sx =y, i=012 n 7-19
S X ) 3n-1
S X =S. X%
S X =S, X i=12 n-1 7-20
S’ X =Sl X%
7-19 7-20 4n- 2
ab
) S" X, S" X, S" % =S"x, =0
@ S x, S x,
@ 2S" x, =S"x, 28" x, =S" X, ,
4n- 2 4n
S X
7.2.3
S X n
X X, 1=012 n-1 S X =a, ta,x+
a, X +a,X°

Sy x =M

St X

S x =a, +2a,Xx+33,X
S!' x =2a, +6a,X

=M S Xi.p =My S x
T Xm N g Bt X g XN 7-21
_ X| i+1Xi+1 _ X| - i hi i+1 hi € i i+1
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hy =Xi.1 - X
7-21
X- X ’ Xieg - X ’
S x =M 2h M; 2h +A Xe X X 1-22
7—-22
S x =M, alital 3+M. Al 3+A X-X +B Xxe X X 7-23
i+1 6h| i 6h| i i i i+1
A B, 7-23 S x 0) 7-19
h? h?
S X% =M < +B =y § %, :Mi+l€I+Aihi+Bi:yi+l
XY A B, =22
2 2
S x =M., Xéh)i(i M Xi+£h-ix +Yi+1hi' Yi h, Mi+61' M Xe X X
7-24
S x ab X
S, %x-0 =S x+0 i=12 n-1 7-25
7-24 7-25
S %x-0 :Mirgl"'yil.-]i_yli-l'*hiélMi-lzs X +0 = - Migi"'yiﬂhi- yi'%MHl
-0 e X.1 X X+0 e X X, 7-24
hii=X- %1 h=X,-X%
h. h. SRRV SRV
M M M = ()
h i+1~ )i i~ Ji- 6
Tl s (T
1-b M_,+2M +bM,,,=c¢ i=12 n-1 7-26
n-1 n+1 M, M, M,
M, M, 7-26 M, i=01
n A B 7-23 S X
ab S
X S" X S"x, =S"a S"x., S"x,., S"x, =S"b
S" X -S" X X-X
S"x -S8" X% :xl-xz
" - X an Xo = X1 @
S X, =(1+Xj_xl)s K S %
S" X, -S" X,.; X, - X1
S" Xy -S" X, Xy~ Xy
s X, =(1+ a X'”)S" B
Xpo1 - Xy 2 Xa-1 7 Xqo2
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7.3 MATLAB

MATLAB

7.3.1 interpl

y=interpl(x,y,X,, method")

@ Xy X= Xi 10 YT Vi 1xn yi =
F(X;) ‘ ) XisYi
@ Y« Xk Xy € Xy, X,
Y« Xk
6) method 4
® nearest _—
e linear o 'method’
e pchip ( cubic) — Hermite Piecewise
Cubic Hermite Interpolating Polynomial
e spline e
Xk Xlsxn
Y« Xk
X,y Xk Y«
7.3.2
MATLAB

Y« =pchip(X,y,Xy)

y« =spline(x,y,x)
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X,Y XY interpl interpl
"method" "pchip® “spline* Xy min X max X
7-1 y=F x y= -05 03 0 0.8 01 05 -03
0.2 03 -07 O x=0:length(y) -1 ° noou »
x1=0:0.1:1length(y) -1
Xy

y= 9.5 0.3 0 0.8 0.1 0.5 9.3 0.2 0.3 9.7 0 ; x =0:length
) 1;

x1 0:0.1:length(y) 4;
yl =interpl(x,y,x1,"nearest");y2 =interpl(x,y,x1,"linear®); %
x1
plot(x,y, "™ ",x1,yl,":",x1,y2,"r"),legend(" ", ",
")
7-2
p 1 ”

7-2
“pchip” “ spline” interpl method
pchip spline
7-2 y=F x y=1 3 0 20 20 4 18 x=0:

length(y) -1
“ ” “ ” Xl:—05 02 55
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y=1302020418 ; x=0:length(y) 4; x1=6€.5:0.2:5.5;
yl =interpl(x,y,x1,"pchip”);

y2 =spline (x,y,x1); plot(x,y,"* ,x1,yl,"r",x1,y2," -."),grid...

legend (" )
7-3
yl y2
25 - FRE .
ol = kit V )
RN ’ A
15 i i |
/ \
10 i / \
5 7 / - \\“{
( -
O P NS
I/I =
-5 ’/
-10 /
,/
415 /
-0
! : 1 5 3 4 5 6
7-3
7-3
7.4
y=F x y=Fx =¢ x ¢ x
d)x X Y yi:d) Xi =F %
qb X
¢ X "
7.4.1

X=X X Xo Y=V1 Y Yn y=F x
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b X F x b X m P, X
y=Fx =¢ X =P, x =g +ax+ax+ +ax" =3 ax 7-27
i=0
y=F x y; X j=12 n P, X
n X j=12 n Y,
rFr= P, X -y ° Pn % “ i y, =
F x R r.=0 R=0

n n
_ 2 _ 2 _ 2 m 2
R=Yr=2 PuX -y =3 g+tax+ax+ +ax -y m<n
= = =

7-28
7-28 R a, a, a, a, R=R a, a, &, a, R
R R
a i=012 m P, X a a a, a,
R _o% g rax+ad+ +ax =0 i=012
v ]; 3, +aX + aX a X" -y X = i = m
Y oatax+tax + +ax' x=Yyx i=012 m<n 7-29
i=1 j=1
m
n X N X"
E Z j 2 j 2 j E]E‘OD Ezyj E
2 3 ma (11 0O
EZ X 2% 2% 2% Ejilg EZijj g
O me2 Oh O
DZ X X% 2% X P2 0 0> yx O
0. . . . . U g : E
0: : : : [%E 0 . 0
Ug om m+1 m+2 an a0 3 yx" O
025 XX 2% X" O
D i 1 n 7-29 m+1 a, a
a, Pn X =g, tax+ax + +ax"=Y ax
=0
7-28
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Pr Xj = Zaix} :yj j:12 n 7—-30
i=0
m<n a
7-30 =}
normal equations 7-29 7-29 7-30 a
7-30 Y Y;
S oy -yl a, 7-30
j=1
y=F X y; X% j=12 n
P, x =F x 7-28
j MATLAB
MATLAB
7.5 MATLAB
7.5.1
1.
MATLAB
MATLAB p x =3x"+5x- 7x+9 p=35079
2.

poly2str(p,'t")
p

®© e
~+

p=350 79 ; % 3x* 6x° Ix 9
pp =poly2str(p,“x")

pp =
3XxM HXx"N3 Ix 9O
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poly
pl =poly(p)
@ p pl p pl

p= abcd ,pl=poly(p) a,b,c,d
pl=(x-a)(x-b)(x-c)(x-d)

@ p pl p
7-3 35 -790

p=35 790 ;pl-=poly(p)

pl=
1 10 32 474 945 0

poly2str(pl,"s”®)
ans =

sN5 40 s 32 sN3 474s72 945s
S -10s" - 328 +4748 - 945s= s-3 s-5 s+7 s-9 s

p pl
7.5.2

MATLAB

conv(pl,p2)
pl,p2 1
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3.
g,r =deconv(p,w)
q p w r
4.
k =polyder(p)
k p
5.
polyval(p,X,)
@ p
@ Xy Xo
©) Xg
7-4 pl =3x° +2x +6 p2 =3x" +5x° - 7x+9

pl=326 ;p2=38,5,0,+7,9 ;
pl=00 pl ; p=pl +p2

p:
3 53 5 15

poly2str(p,™x")

ans =
3x™M 6x"3 8x"2 5x 45

7-5 pl=3x"+2x* - 7x+2 @2 =3 - X* +6

pl=320 72 ;p2=3 406 ;pp=conv(pl,p2)

pp =

9 3 2 3 25 2 42 12

poly2str(pp,"x")
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ans =
IXNT BXN6 2X75 3xM R5XN3 2xMN2 42x 42

pl- 2= 3 +2C-7x+2 - 3¢ -xX+6 =9 +3x - 2 - 3 +25K° - 2¢ - 42x +12
7-6 7-5 pp/p2 pp/pl

g,r =deconv(pp,pl)

q =
3.0000 4.0000 0 6.0000
r =
1.0e 014~
0 0 0 0.3553 0 0 0.7105 0.1776

qg,r =econv(pp,p2)

q:
3.0000 2.0000 0 4.0000 2.0000
r =
1.0e 014~
0 0 0 0 0.3553 9.0888 0 0.5329
7-5 10 *
4 ) 2 4
7-7 pL=x" +2x" - 7x- 2 XxX=-2 423 [3 _2]

pl=102 7 2 ; polyval(pl, 2)

ans =
36

polyval(pl, 423 )

ans =
258 8 76

polyval(pl, 24;3 2 )

ans =
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8 258
76 36
7.6 MATLAB
7.6.1
polyfit
p=polyfit(x,y,m)
® X,y length(x) =length(y)
y=F x Yi X
® m m X m<length(x)
=length(y) 6
p
7-8 y=f x =cos x +0.5xrand sze x xe 0 3w
f x p f x p
X 0.3
X 0:0.3:3*pi; y=cos(x) ©.5*rand(size(x)); %
p =polyfit(x,y,3) % 3 p
p =

9.0371 0.5276 2.0201 1.9277
poly2str (p,"x ") % 3

ans =
0.0371x"3 9.5276x"2 2.0201x 4.9277
3 p X =-0.0371x° +0.5276x" - 2. 0201x + 1. 9277

x19:0.2:3* pi; yl polyval(p,x1l); plot(x,y, ™ ",x1,yl),grid

legend (' pP3(x)")
7-4
7-4

y =cos(x) +0.5*rand(size(x))

7.6.2
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2 T 1 1] < FERA
's ] ] FUABEEL P3(x)
! * \\* * * K It "
0.5 \* - * *
0 - * i
~05 R B % .
- *\\
=15
-2
0 1 2 3 4 5 6 7 8 9 10
7-4
1.
@ X X, k=12 n n
@ Xy Vi =F %
@ polyfit X Y p X
@ poly2str
—5ch X
7-9 y=5ch ¢
X y

Xx=2* pi:0.2:2*pi;y=1/5*cosh(x./3); %
ppolyfit(x,y,2) %

p =
0.0151 9.0003 0.1836

pk poly2str(p,"x") %
pk =
0.015071x”"2 ©.00029557x ©.18365

ezplot 1/5*cosh(x/3),hold %
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ezplot 0.015071*x"2 ©.00029557*x ©.18365 %

grid,legend '
7-5
0.015071x2—0.00029557x+0.18365

08} H o — BRI : ;
B B ~ 0wt

N\ /.
0.6 -
A\
N /
A 7
04
N 2
03 > - Z.
: A —
02 TSse ==
-6 —4 -2 0 2 4 6
X
7-5
2.
y=ae™ ab Xy
logy=loga+bxloge u=logy B=bloge u=loga
+Bx u X y u=logy u
polyfit
xy =k k Xy
logx+logy=logk u=logy v=logx B =logk u=B-v
u=logy v=logx Xy u v polyfit
MATLAB
polyfit
7
1. t h 7-4
interpl : ? h, =500 m h, =900 m h; =1500 m
7-4
h m 466 715 950 1422 1635
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t 7.04 4.28 3.40 2.52 2.13
2. y=F x 7-5
x=1.571.68 1.81 1.90
2 =
X 1.55 1.62 1.63 1.70 1.92
y 2.587 2.415 2. 465 3.081 3.341
3. 5780 1
4, x=45 - 123 3x° +9x% +60x° - 90
5. p, X =13x" +55x° - 17x+9 p, x =63x" +26x’ - 85x* +105 p, X P, X
P, X Ip; X
6. 7-6
6 =
X -3 -2 0 3 4
y 18 10 2 2 5
7. 7-7 y=F X
7 =
X 1 3 4 5 6
y 7.4 3.0 3.5 4.8 2.3
8. y=e ¥ -1<x<1



b
- Newton-Leibniz ff xdx=Fb -Fa
f x ab f x F x
M:f X F x F x
dx
@ f x
snx INX p-1y @

@ f x

F x f x
1 1 9
F'x = sz V22 +3 X V252 +3 - 16ﬂ|n X2+ /2 +3 |' =3 /2 +3=f x
b

F x ffxdx:Fb—Fa

©)

MATLAB
MATLAB
8.1 MATLAB
MATLAB

vpa
int integrate

s=int(fun,v,a,b)
@ fun
@

\Y



MATLAB

152

a,b fun
fun

32 vpa

syms x % X

int(sin(x) 0 pi/3)

ans =
1/2

fsi n xdx

syms x ¢ int(sin(x)) +c symsx int(sin(x)) +"c"

ans =
-cos(x) +c
-cos(x)

8-2 f 3x'dy
0

syms xy int(3* x*y y 0 pi/5)

ans =
3* (xM(1/5* pi) -1)/1og(x)

3m
s=f R tdt yt =e®%sn t+ /3

8-3

syms X s=int(exp(0.6* x)* sin(x +pi/3) x 0 3* pi)

S =
25/68* exp(-9/5* pi) +15/68* exp( -9/5* pi)* 3~ (1/2) +25/68 +15/68
* 37 (1/2)

symst s=int("exp(0.6* t)* sin(t +pi/3)" t 0 3* pi)

S =
.75234142914275707307821260870297



8 153

2 vpa
sl =vpa(s 6)
6
sl =
.752340
* dt
8-4 f 1+

symst int(1/(1 +t”~2) -inf inf)

ans =
pi
f dt = ™ i
) 1+t2 p
1/7(1 +t"2) pi vpa
(pi n) n
cos xt e sin xt
8-5 t =at ,,= ) s 6 S =
-snxt 5x° - cosxt
2
j at dt
-1

syms X t A= cos(x*t) exp(@* x*t) sin(x*t)-sin(x*t) 5* x"3 -cos(x* t)
int(At-12)

ans =
sin(2* x) +sin(x))/x 1/2* (exp(4* x)-exp(2* x))/x -(cos(2* x)-
cos(x))/x
(cos(2* x)-cos(x))/x 15* x"3 -(sin(2* x) +sin
(x))/x
8-6 ﬂ e **dtdx

symst xclc2 y=int(int(t"2* exp(-3* t* x) t) +cl x)+c2 % cl c2
Y

y=-
-1/3% t72% (FL/3/7t/x* exp(3* t* x)-1/9/t"2/x"2* ¢
cl* x +c2 0
2 -3 _ t R P
fte dtdx —c2+clx+9X(1 +3tx)e 8-1 D



154 MATLAB

8-7 ﬂszyzda D X Y

D

D 8-1

Jocvar = [ [ "seyaoc= [ [ pevado
y

syms x y int(int(3* x"2* y"2 y 0 1-x"2) x 0 1)

ans =
167315
8.2 -
b
b X f x fodXz
b
fqbXdX b X ¢ X P, x
P, X f x P, X f x
8.21 -
1. -
P, X f x
b b
ffxdef P, x dx
P, X f x f x X
ab n h
X, =a+ih i=012 nh= b-a/nx,=ax,=b
y=f x n+1 y,=f x, =f a+ih i=01

2 n 7-12 ab f x n Lagrange
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n n
_ w X _ w X
P, x = fx = 2 Y,
=0 X- X o X =0 X- X o X
w X = X-X%X X-X X=X, @ X = X-X X - X1 X - X X, - X,

f:f X dXszaPn X dx = izz;)“bawx_dx)f X = iz:)Kif X

X- X @ X

K x=a+th te 0 n dx = hdt X-%X= t-ih x-X%X-=ih

w X =w a+th =h""tt-1 t-2 t-n @ % =h" -1""i n-i

Rt t-1 t-2 t-n
K = —@X 4= : hdt
' fax-xiwxi jo-l”"h”i n-i ht-i

-1 "h ™M™ tt-1 t-2 t-n

“in-1 Jo t-i dt
no_ s 1™ MmMtt-1 t-2  t-n
Y T - dt
= -1 f tt-1 t-i+1 t-i-1 t-ndt 8-1
inn-i
h= b-a /n Ki=nh¢" = b-a¢g" c" f x
ab n i O<i<
n _
b b n n
ffdesz,]xdxzitKifxi = b-a Ycg"fx
a a i=0 i=0
= b-a ¢"fx +¢"fx +¢"fx, + +¢",fx,., +c¢"fx, 8-2
2.
n
4 n=4 -

4
fbfdeszP4xdx:2Kifxi = b-a Yc'fx
a a =0 i
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= b-a ¢'fx +¢*fx +¢'fx, +¢'fx, +¢*f x,

fx i=012314 ab
4 4 4 -2 i=
(o8 C, 8-1 (o n=4i=2 8-1
4-2 4
4 _ -1 J’ _ 2
= tt-1 t-3 t-4dt=—
C 4x2 x 4-2 0 15
n
G
8-1
8-1
n G" O<is<n
0 1
11
! 2 2
1 4 1
2 6 6 6
3 13 3 1
8 8 8 8
4 7 16 2 16 7
90 45 15 45 90
5 19 25 25 25 25 19
288 96 144 144 96 288
6 4 9 9 34 9 9 4
840 35 280 105 280 35 840
5 751 3577 1323 2989 2989 1323 3577 751
17280 17280 17280 17280 17280 17280 17280 17280
8 989 5888 928 10496 4540 10496 928 5883 989
28350 283350 28350 28350 ~ 28350 28350 28350 28350 28350
(.;II’]
® c¢" t=n-i ¢’
n
@>c" =1 fx =1 -
i=0
n
G
©) n=8
n
1. -
_ P, x
R f [
b b b b
R f =I-anxdx=ffxdx-anxdx=J fx -P, X
a a a a

n  Lagrange P, x f x
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n+1l
fx -P, x == gwnﬂx
n+1
e ab wyy X = X-X X-X x-x, =][ x-x a
i=0
n+l b
Rf = ffwmxdx 8-3
n+1 a
2.
8-3 f x f x
b b
n f™ x =0 Rf =0 ffxdx:anxdx
f x 8-2
f x n
Rf =0 n+1 Rf #0 n
3. -
f x n f""* x =0 R f =0 f x
n+1 fr* x %0 R f %0
- n n n+1
n - n+1
fx n f*" & =0 ¢e ab -
n f x n+1 frtog
b n+1 b
= - :f# - - -
R f fo P, x dx ] axxoxx:L X - X, dx
b
n fx-x0 X - X Xx-X, dx=0Rf =0
X, -X=h i=012 n x=a+th te 0 n dx=hdt
b n
fx—xo X - X, X - X, dx:h"*lf tt-1 t-2 t-n dt
a 0
n n=2k k te 0 2k
n 2k
jtt-lt-z t-ndtzftt-l t-k t-k-1 t-2k-1 t-2kdt
0 0
u=t-k t=u+kdu=dtue -kk
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n k
ftt-l t-2 t-ndtzf u+k u+k-1 u+luu-1 u-k+1 u-
0

-k

k du
k
:f uu -1 uw- k+1 ? u- K du
-k
8.3 -
8 8
8.3.1
- n=0
b b
ffdeszoxdx= b-ac’fx = b-afx 84
- 8-3
_.I:O+1 éq: b o
Rof —WfawledX—ff b-a
8.3.2
- n=1
b b
fodXzJPlxdx= b-a ¢'fx +¢'fx
fx, =fa fx =fb c,' =c¢,' =1/2
b b b—a
ffdeszlxdx: fa +fb 8-5
a a 2
P, x f x 1
- 8-3
Rf:fugfbw xdx:fuffbx—a X-bdx =" b-a?’f..§ 8-6
! 2 a ’ 2 a 12
f g f x x=¢ ¢e ab

8.3.3
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1. Simpson

b b
JfXdXzJ'PZXdX: b-a & fx +c¢’fx +c°fx

a+b

X =ax ="5" % =b ¢’ =¢’ =1/6 ¢* =2/3
b b
~ - } 1 2 4a+hby, 1
fodx~faP2xdx— a[fa+f(2)+6fb]
—""[fa raf[310) 4 fb] 8-7
2
af a (—a;bf(—a;b))
bfb X=a x=b f x
Xx=a x=b
2.
2 n=2
3
afa (%bf(%b) bfb f x Lagrange
[a+b fa+b
P, X P (7) =f (T) 7-16
4 4 2
fx -P; X f §w4x:f ¢ X - (x-a+b) -b £e ab
4 2
a b
Rf—fbfx-dex—ijf“ x-a( a+b)2x-bdx 8-8
2 A 3 4, 3 X - 2
ab mn
fbf“ ¢ x-a(x-a+b)2x-bdx=f4 jbx-a(x-a+b)2x-bdx
. 2 T, 2
t=x-adt=dx
b a+ b\? _ b-a?
Lx'a(x' 2 ) X-bax= -
8-8
R f =L . b-af. - b-at, c ab 8-9
2 4 120 1 2880 mon
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8.4 MATLAB
8-3
ab
n n
ab
8.4.1 MATLAB
1.
ab n
i h=x-x., 1=12 n y, =f X 8-4
X - X%, fx =hy
b n
jfxdx:| f ~yh +yh+ +yh = Syh 8-10
a i=1
ab n a=X,<x < <x,=b x-%., = b-a/n=
h
fbf _ b— ar‘l _ n B
xdx =1f = nZyi—thi 8-11
a i=1 i=1
2. MATLAB sum
MATLAB sum 8-10
s =sum(y)
@® y = Y 1xn S y S =
sum y :;yi:y1+Y2+ Y
@ y Y: yij mxn S S= % 1xn § = Z{yij
s Y s=sun) = (Xye ¥ X



n=1:31 a=sum(n.”2) a

a =
10416
3. sum
b
@ ffxdx ab n i
y=fx i=012 n i h =x-x_, i=12 n
b n
ffdezzyihi=s:sum(y.*h) Yo
a i=1
° y h
e length(y) =length(h) +1 y
©) ab n h=x-x_, i=12 n
b b-aw. _ o o
ffdez Yy =s =h*sum(y) i=1 i=n Yo
a i=1
3m
8-9 szf ytdtyt =e%"sint+x/3 16
0
format long e h=pi/1000; t=h:h:3*pi; % t

y=zexp(-0.6* t).* sin(t +pi/3); s=h*sum(y)

S =
7.509763339880702e-001
t=h:h:3"pi t=0:h:3"pi-h s=7.537065566765496e-001

t=0:h:3* pi h S h S
8.4.2 MATLAB
1.
ab n
i hi =X - X, Yioa=f X, y=fx i=12 n
8-5

fbfxdx: ZJW f x dx = Z%yi_1+yi h,
a =17 X%.1

=1
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MATLAB

f x

f:f X dx = 5

Yo=fa y,=fb y=fx

Yo 2y, +2y, +

y0+yl hl+ y1+y2 h2+

ab

+ 2yn-2 + 2yn-l

+ yn-2 +yn-1 hn-l + yn-l +yn h

ab n h= b-a /n

n-1

*Yn

=f a+jh

b n-1
jf de~%(f a +fb +2) fa+jh )=T,
a i=1

h
> (% +v, +2J;yj)

n

. n
2.
8-6
h3
12f fJ
b : h3 n .
R fT, Lf x dx - T, 1221‘ 3
" x ab fr f x ab
7—i n .,
fr = nj;f ¢
_ I’lhsT _ b-a hZT
R fT, —-lzf— P f
3. trapz
MATLAB
1 MATLAB trapz
trapz trapeze
s=trapz(x,y)
® x,y y,=fx i=012 n
s =trapz(x,y) —2 B y, X - X,
i=1
@ x m y mxn s n
y X
©) trapz X X hy=x-x_,=1
_ Yi *¥ia
s =trapz(y) —; 3
2 trapz
@ ab n a=x, [ y=fx i=12

i h=x-x_, i=12

n
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b e~ VYtV
Lf x dx~=T = Zi 5 hy =s = trapz(x,y)
length(x) =length(y) =n +1
@ ab n h, =h
s=trapz(y)* h
8-10 8-9
h=pi/1000;t=0:h:3* pi; % 8-9 t=hh 3*pi
y=exp(-0.6*t).* sin(t +pi/3);
s=h* trapz(y)
S =
0.7523
8.5 MATLAB
8.51
1.
ab
f x ab
4
n-1 ab n = b-a/n
n=2m m m Xy.o Xy =12 2h =X,
- Xy.,= b-a /m Xoo Xoi1 Xy
8-7 m
b M X m h
fodx=2j fdezzgfxzj_2 +Af %y, +f Xy S,
a =17 X2 i=1
h m m-1
Sa=3lfa +fb +4Z‘1fx2j_l +2§11‘x2j ] 8-14
1= 1=
2.
2h
— f = 2h 5f4 H-
8-9 R f; =" 5880 N Xy <mMj<Xy j=1 2 3
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_ 2h ° &, _ h*b-aw,s
RTS, "2sso;f‘ T 77180 m lefi i
- 1 m
fr =ﬁ;f14 7, f* x a<x<b m
Rfs, = -2-ahhs
180 "
8.5.2
8-15 h
h 8-15 h
ab
2m m 8-14
h m m-1
Sn=glfa +fb +4Xf %, +23fx, ]
i=1 i=1
fa fb fx
_ _h a+h
n=2 SI—S[fa+fb +4f(2)]
g=%fa +f b +4f x, +4f x, +2f x, X, %bf
f X, f X,
e h
e ab m
8-15
_  b-an' <+
RfS, —-A—EQT—4m
ab 2m
b-af h\* 4
RT S '180(2) m
R
b-a
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b-af h\* ;%
Sm- S0 115~ - 1o 5] T =R 1S, =1-5,
& I%m_sm|<8 |RfSZm |=|I_SZm|<‘9
& SZm
8.5.3 quad quadl
MATLAB
“ funfun ”
1. quad
quad

quad (S,a,b,tol )

@ S M-
@

©) a,b

@ tol le- 6

5
8-11 f 2 /25 + 3dx
1

[EY

format long g y1 ="x.72.* sqrt(2* x.”2 +3)";sl =quad(yl 1 5)

sl =
232.805729993697

y2 =inline("x.”2.* sqrt(2* x."2 +3)");s2 =quad(y2 1 5)

s2 =
232.805729993697
3 M-
“1i8_11"
functiony =1i8_11(x)
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y=x."2.*sqrt(2* x.”2 +3);
“1ig8_11"

tic s3=quad(@ 1i8_11 1 5) toc

s3 =
232.805729993697
elapsed_time =
0.0600000000000023

tic toc tic toc
“elapsed_time ="
4 clock etime date cputime “ timefun
2. quadl
Lobatto
quad
quadl(S,a,b,tol)
5
8-12  quadl j _sinxXdx 14
M,

functiony =118_12(x)
y=sin(x."2);
“1i8_12"

format long s=quadl("1i8_12" exp(-5) 5)

S =
0.52791717919279
8-11 8-12 int
dblquad “ funfun’
8

pause
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clft
forh=210.50.1
Xx=0:h:10;y=-x.* x+112; plot(x y) hold
x1 =0:h:10;n=length(x1);
yl=-x1.*x1+112;
sl =sum(yl(1:n-1))* h;
s2 =trapz(yl)* h;
stairs(xl yl "r") plot(xl y1 ** *)
h sl s2 pause(3) hold
end
trapz F sin xdx
quad
= 1
1 fz V4 - sin? xdx 2 f e /1 +xdx
0
1
3 2
3J41+x 4f0x 2x° - 3 dx
3 H 2
1 sin x x
S jllnxdx 6 jl( X T xe 4)dx
8-2 y=F X
1.1 1.1
1 f yPdx 2 f X2ydx
0.5 0.5
8-2 4
0.5 0.6 0.7 0.8 0.9 1.0 11
0.4804 0.566 9 0.6490 0.7262 0.7985 0.8658 0.9281
In 1 +x 3 X
1 —————dx 2 dx
J’001 1+x f%sinzx

3 f_l[fmyzxydx]dy

4 fRo[fo/W Mdy]dx



X y X
Gxyy y™ =0 y" =f xyy y ™! 9-1
y" m
y=f x 9-1 m
m m m
Y% YoV X% =¥i Y™ X TYma 9-2
i
m 9-2 y=yl x =YX j=012 m-1
dx’ Yoxo
y' j j
y=f x
yi=F x, i=01 n 9-1
9-2
dy X
+2xy X =1
dx Y 9-3
y 0 =0
e *[ et
y X =e foe
MATLAB
MATLAB
9.1 MATLAB

MATLAB
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9.1.1 MATLAB
MATLAB
@ “ Dmy y=f x m y™ =f™ x Dy y
dy dy d"y d"
oDy oy o D
dx dt dx™ dt™
9-1
Dmy=F x y Dy D2y Dm-1y
@ 9-2
Y X% =Y Dy X =y; Dm-1Y X =VYn:
® ‘v
9-3
Dy+2xy=1y 0 =0
9.1.2 dsolve
yl,y2, ,yl2 =dsolve(al,a2, ,al2)
@® al,a2, ,al2
@ “* ”
c1,C2,
3 - t
@ ai i=1,2, ,12
ai 12
®
2y t2
9-1 T 4y=1- — y0 =0.2 y 0 =0.5
dt’ w
1 D2y +y =1 - t"2/pi
2

y =dsolve("D2y +y =1 - t"2/pi "),

y:
-(-pi-2+t"2)/pi +C1* cos(t) +C2* sin(t)

y= w+2-t %+Clcost+czsint C1
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C:2 t “ fy “ ”

y =dsolve("D2y +y =1 -t"2/pi*","y(0) =0.2,Dy(0) =0.57)

y:
-(-pi-2+t"2)/pi-2/5* 2* pi +5)/pi* cos(t) +1/2* sin
49
y=1 g2 490t 4m 10,
) 2 S5

MATLAB
ezplot(" - (-pi-2+t"2)/pi-2/5* (2* pi +5)/pi* cos(t) +1/2* sin(t)", -
33 ),grid
9-1

—Em—2+2Ym=2/5(21+5)/n cos(t)+1/2sin(1)
15 H i j

1 N\
I~

-3 -2 -1 0 | 2 3
t
9-1 9-1
t y=ft y ot
9-1 y0 =0.2 y 0 =0.5
@:SU—ZV
ds
9-2 q u0O =1 vO =0
—V+v=2u
ds

u,v =dsolve("Du=3*u-2*v,Dv=2*u-v")

u:
-exp(t * 2* t* C1-C2-2*% t* C2)
V:
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-exp(t * -CL+2* t* Cl-2* t* C2)

t t s A
B
U= A+Bs € v=% oA - B+2Bs €
u,v =dsolve("Du=3*u-2*v,Dv=2*u-v","u(0)=1,v(0)=0",
lsl)
u:
-exp(s)* (-1-2*5s)
V =
2* s* exp(s)
u= 1+2s € v=2s° “ g
13 Sl
9.2
9.2.1
1.
m

m-1

{ym=fxyy' y

Y X YoV X =Y. Y X =Yme1
Vi =Y Y =Y Ym=y ™
1 =Ys
é' =Y
0
P 1 =Y
=Y

m=f Xy ¥, Yin

m-1

Yi X SY X Yo Yo X TY X =V Y X =Y X =Y,
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Yi =Y X
Xy X Y1 Y2 9-1
9-1 =
X X =a X1 X Xi Xi+1 X, =b
y X Yo Y1 Y2 Yi Yi+1 Yn
dy % _
ix =g XY X xe ab 9-4
ya =Y
X X i=012 N a=X <X <X < <x< <Xx,=b
h
h=x,,- X X, =X, +ih i=012
=aya =y X =Y% X Y1 =
Yy X Yo W1 Y=Y X Yo Y1 Y2 VE
Xi
9-4 Y 9-4 yi=y %X i=012 n
9-4
X Yi=y X
9.2.2
1. Taylor
9-4 g Xy y=f x
Taylor y=f x X
fx =fx + x-x f x +2i X-x °f"x o+ +pi X-x PfP x +
1 _ pt+lg p+1
p+1 X Xi f fi
&ie X X X1 X=X Xi.1- % =h
fx., =fx +hf x +Shf x + +THFP x 4+ L ppifert g
i+1 i i 2 i p i p+1 i
d
9-4 —y:f' X =g XYy
dx

fx, =fx +hgx fx +2ihzg' x fx + +pihpg PLox fox

1 +
pThp 'g? & fg

&e X X

f x +
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yi yi+1 f Xi f Xi+1
— 1 2 0 1 p~N P-1
Yier =Y thg Xy, +7hg Xy t +th XY 9-6
9-6 9-4 Taylor
i=0 Xy Yo=Ff a =f x g X Yo
9-6 Y1 X1 Y 9-6 Yo
XO Xl X2 Xn yO yl y2 yn
9-4
2. Euler
Taylor 9-6 p=1 9-6
Euler Vieie=Y;thg X,y 1i=012 n
9-4
Y X =Y 9.7
Yier =Y thg Xy,
9-7 .
9-2 9-4 Y=
Xo Yo y=f x
Euler X, Wl
Xy Xo Yo
Xo Yo X Y1
X0 X X5 X
Xl yl Xl
9-2
Taylor 9-6 p
9-6
p g Xy
- Runge-Kutta
9.2.3 -
- Runge-Kutta 9-4 g Xy X
g Xy, Vi1 Vi1 gxy
9-4
dy=g xy dx X X4
X+
Yier = Yi t+ ‘g xy dx 9-8
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8-4 J’XMQ Xy dXx= X, -%X g%V =hg Xy 9-8
Yisa =Yi +hg X Y, Taylor Euler
1. -
9-8
X +1 1
. g xy dx ”?h g Xy *t9 X Yia
Ki=g X Y 9 Xii1 Yia Xi.p =X +hy,, Euler Vi1

=y, +hg x y; =y, +hK; Ki Xiv1 o Yiea
Xi+1

g Xy dx z%h K, +g x +hy +hK,

X

K,=g x +h vy, +hK, 9-8
yi+1:yi+%h K, +K, 9-9
- on 9-9 K, K,
Ky K, Xi Y Xi;1 =X +h g xy
Yi+1 Taylor g Xy
2. -
Smpson 8-7 9-8

Xi+1 1
fv g xy dx ”gh g X ¥Yi t49 Xii1p Yiewz tO9 Xiix Vi

X

N=X.;- X X1, =% *+h/2 X,, =X +h Yitiz  Yia Euler

1
Yiti2 =Yi +?hg Xi Y Yiea =Y +hg Xy, -

Ki=g X Y KZ:g(xi +% Yi +%K1) Ks=g % +hy - hK; +2hK,
9-8 - o h
Yiss =Yi +% K, +4K, + K, 9-10
3. -
9-8 gxy
Xi+1 h
. g xy dx ~g 9 X Y +309 Xtz Yiews 739 Xiizz Yieas tO Xt Yier
h 2h
81 n=3 Xiv13 =% +§ Xiv23 =X +§ Yiers Yiears  Yiaa
Euler 9-8

1 1
Ki=g X Y, K, =g[ X +§h Yi +§K1)
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_ 2 1 1 _
K; =g| X; +§h Y +§K1+§K2 K,=g x, +h y, +K, - K, +K,
4
_ h
Yi+1—yi+§ K, +3K; +3K; +K, 9-11
3/8 Smpson 3
o R
1/3 4
9-11
Vir =Yy g Ky +2K, +2K, 4K, 9-12

h h h h
Ki=g x yi K =9 Xi+? yi+?Kl) Kazg(xi+? M"’?Kz) Ki=g x +h y +
hK,
N
Yo =Y +CK +GK, + +gKy =y + Y gK 9-13
=1
-1 J
Ki =g %Y, szg(xi+ajh yi+zbjij)h=Xi+1_Xij=2 N
m=1
9-13 N 9-6 p h
¢ & b, N Taylor
O h"
9.2.4
Vi1 Xi Y g XY
Yisuz Yisom
4 Adams Vi1
Yi Vi, P=12
9-4 y X Xi Xii1 Xi_o X3 y X Yi Yii1 Yi-2
Yi.a 9-8 gXxXy =g XyX g X
Lagrange P, x g xy

X-Xi.q X-X._., X-X_3
gxyx +
Xi- X1 Xi - X2 Xi - X3

P; x =

X=X X=X, X-Xi_ 3
g X..Y X.,
Xiog= X X1~ X X.1- X3

X=X X-X.1 X-X._3

g X., ¥ X., *+
Xio= X X2~ X1 X.2-X_3
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X=X X=X 4 X= X5
Xiiz= X X.3- X1 X.3-X_,

g Xi.3 Y Xi.3

Xi+1

yi+1:yi+f. gxdezyi+f.ﬂP3 X dx

Ps X Py X 4 0i.3=0 Xi.3 Y X_3 h=
Xiv1 = X
X=X X-X.1 X-X., « y _ X-% X-x+h x-x+2h
Xi.g= X Xi.z3-X.1 X.3-X., g X.3Y X.5 = - 6h® O3
%
h 9., le-Xi X- X +h X'Xi+2th=%h4

i
Fﬂ X- X X- X, X-X_
xo Xz = X Xzt X Xz - X,
X +1
Yia =Y t P, x dx

X

9
g X.3 Y X.3 =- ﬂhgi-s

Yi+1*yi+% 55¢; - 999;., +370;., - 99 3 9-14
9-14 X X1
on
X
_ h
yi+1_yi+ﬂ 99,,, +199; - 59,., + 0., 9-15
9.3 MATLAB
MATLAB
help “ funfun ”
9.3.1
ode23 ode45 “ ode”
“ Ordinary Differential Equation” -
23 45 2/3 4/5 -
ode23 ode23
X,y =o0de23(‘Fun', Tspan, y0, options)
) y X =g xy j=12
dy.
@ “ Fun” l:gj Xy, M-

dx












180

MATLAB

t =
-2.0000
-1.9200

6.8681
7.0000
Yy =
-5.0000
-4.5852

-6.8931
-7.5759

5.0000
5.3658

-4.7083
-5.6421

sl =size(t),s2 =size(Y)

sl =
42 1
s2 =
42 2
42
9-5

d’y x  dys
=—"= -y, Ix+4y,IX +3/
oo Cax D VXA X

Y(,1) =y(t) Y(:,2) =y'(1)

y 1
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9
P 1 0pg Pg
LA
¥ x 0O OxO
2 M=
function dy =1i9 5 1(x,Yy)
dy =zeros(3,1); % dy ,
dy (1) =y(2); % o dy(l) vy y(2)
y' (x)
dy(2) =y(3); wody@) vy y(3)
y'(x)
dy(3) = - y()/x +4* y(2)/x"2 +3/x;

“1i9 5 17
function dY =1i9 5 2(x,Y)
dY=040;001;04/x"2 -1/x *Y+ 003/x ';

“1i9 5 2"
3

0de23("1i9 5 1", 1,4 , 0;-1;1 ),grid

9-5
. | %;/*:
, g4
| a
1 R N a
0.5 -~ / --------
/ ,,,,,,,,
// ,,,,,,,,

X,y =o0de23("li9 51", 1,4 , 0;-1;1)
X,Y
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X= (X;)
1.0000
1.0001
1.0005
3.8321
4 .0000
_ _ _dy(x) _d’y(x)
y =Y =Y (X)), Y, T Tdx x:Xi, 3 —7 _—

0 -1.0000 1.0000

-0.0001 -0.9999 0.9998

-0.0005 -0.9995 0.9990

1.9984 3.4746 2.8491

2.6228 3.9670 3.0148

€y

xn =size(x), yn=size(y)

22 1
22 3
X 22 y, j=3 y X Yy X y' X

X,y =ode23("li9 5 1", 1,4 , 0;-1;1 ); %

poly2str(polyfit(x,y(:,1),3),°t") % 3

ans =
0.14176 t~3 -0.26304 t~2-0.78818 t +0.90515

dsolve("tA3* D3y +tA2* D2y - 4* t* Dy =3* t~2","y (1) =0,Dy

=-1,D2y(1)=1","t")

ans =
-1/2* t"2-1/6 +1/2/t +1/6* t"3
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, t=1:0.2:4;
y1l0 =0.14176* t.~3 -0.26304* t.72 -0.78818* t +0.90515* ones
(size(t));
yll=-1/2* t.~"2-1/6* ones(size(t)) +1/2._./t+1/6* t."3;
plot(t,yl0,"0",t,y1l,"r +",x,y(:,1)), legend("
.12)1
9-6
9
1.
dy dy X
1 —=2x- 1 =1 X 12 2 —=y-—vy 0 =1 xe 0 1
dx yy < dx y y y <
dy dy _ 3y
3 —=- 0 =2 01 4 —=—" 0 =1
dx vy Xe dx 1+x yy
5 X +y+ x-2y —){:Oyo =1 y 1
d
6 —y=x+y2 y 0 =0
dx
2.
dx _ df _
Ll 2 ax 7 f0 =0g0 =1
v, G sy
dt dx 9
3 T
o  HEA
Ssb | miEeE P
sy
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27 x=
ae P X0
dx _

a tY=0

d’y

—Z = 0 =0
o yy y
d2

——1+ 1+X yyo0 =1y 0 =3

dx®
dy y2 1 — +y

2
gx)21+yoosx=0y0
2

1-x° d—y-Zxdy
dx? dx
by
&:-yyo =1
3 2
ey o, dy gdy
dx® dx® dx
9-5
9-5

OyO0 =0y 0 =0.25

—ay 0 =0

—+nn-1y=0n

y 0 =0y"' 0 =0

=3¢y 0 =1y 0 =10y" 0 =30 xe 0 1.5

M - ode23
X-Yy X Xe 14
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MATLAB 7.0.1
Simulink 6.1
Aerospace Blockset 1.6.1
Bioinformatics Toolbox 1.1.1
CDMA Reference Blockset 1.1
Communications Blockset 3.0.1
Communications Toolbox 3.0.1
Contra System Toodlbox 6.1
Curve Fitting Toolbox 1.1.2
Data Acquisition Toolbox 2.5.1
Database Toolbox 3.0.1
Data feed Toolbox 1.6
E"Eﬁg];z?gsf“ Infineon C166 Infineon C166 111
Embedded Target for Motorola HC12 HC12 1.1.1
Embedded Target for Motorda MPC555 MPC555 2.0.1
Embedded Target for OSEK VDX OSEK VDX 1.1.1
Embedded Target for TI C2000 DSP tm TI C2000 DSP tm 1.1.1
Embedded Target for TI C6000 DSP tm TI C6000 DSP tm 2.2.1
Excel Link 2.2.1
Extended Symbadic Math 3.1.1
Filter Design HDL Coder HDL 1.1
Filter Design Toolbox 3.1
Financia Derivatives Toolbox 3.0.1
Financial Time Series Todbox 2.1.1
Financia Toolbox 2.4.2
Fixed-Income Toobox 1.1
Fixed-Point Toolbox 1.1
Fuzzy Logic Toolbox 2.1.1
GARCH Toolbox GARCH 2.0.1
Gauges Blockset Gauges 2.0
Genetic Algorithm Direct Search Toolbox 1.7
Image Processing Toolbox 3.1
Instrument Contra Toolbox 2.1
Link for Code Composer Sudio 1.3.2
Link for ModelSm 1.2
MATLAB Builder for COM COM  MATLAB 1.1.2
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MATLAB Builder for Excel Excel MATLAB 1.2.2
MATLAB Compiler MATLAB 4.1

MATLAB Report Generator MATLAB 2.1.1
MATLAB Web Server MATLAB 1.2.3
Mappings Todbox 2.0.3
Model Predictive Contra Toolbox 2.1

Model -Based Calibration Toolbox 2.1.2
Neural Network Toolbox 4.0.4
OPC Toolbox OoPC 1.1.1
Optimization Toolbox 3.0.1
Partial Differential Equation Toolbox 1.0.6
RF Blockset RF 1.0.1
RF Toadlbox RF 1.0.1
Real -Time Windows Target Windows 2.5.1
Real -Time Workshop 6.1

Real Time Workshop Embedded Coder 4.1

Rabust Contra Toolbox 3.0

Sgna Processing Blokset 6.0.1
Sgna Processing Toolbox 6.2.1
SmDriveline 1.0.1
SimMechanics 2.2.1
SmPowerSystems 4.0

Smulink Accelerator 6.0.1
Smulink Contra Design 1.1

Smulink Fixed Point 5.0.1
Smulink Parameter Estimation 1.1

Smulink Report Generator 2.1.1
Smulink Response Optimization 2.1

Smulink Verification and Validation 1.0.1
Soline Toolbox 3.2.1
Stateflow 6.1

Stateflow Coder 6.1

Statistics Toolbox 5.0.1
Symbalic Math Toolbox 3.1.1
System Identification Toolbox 6.1

Video and Image Processing Blockset 1.0.1
Virtual Reality Toolbox 4.0.1
Wavelet Toolbox 3.0.1
XPC Target xPC 2.6.1
XPC Target Embedded Option xPC 2.6.1
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abs (x) X 27 diag 13
angle(x) X 27 diff 43
ans 12 digits 82
asin(x) arcsin x 27 dir 5
atan arctan x 27 disp 31
axis 52 doc 4
bank 82 dot 28
bar 55 dsolve 169
blanks 31 echo 76
box 57 || eig 123
break 76 eps 12
cd 5 eval 34
ceil(x) 27 exp(x) e 27
chol cholesky 113 || expand 42
class 37 expm(a) e? 23
clc 8 eye 13
clear 8 ezplot 53
clf 56 ezmesh

62
collect 42 ezsurf
colormap 62 factor 41
compact 3 :?CIO”_ 27
conj 20 ;igure 47
conv 144 || fill 55
cos(x) cos X 27 findsym a4
cosh (x) ch x 27 fix(x) 27
cot(x) cot x 27 fliplr 14
cross 8 flipud 14
lctri]+c 4 || floor(x) 27
Ctrl|+K 4 format 3
deconv 144 || fplot 52
demos 9 fsolve 96
det 123 || funm 23




B MATLAB 187
fzero 93 mildivide 22
global 67 mpower a a" 20
grid 56 mrdivide 22
help 4 mtimes 20
hex 82 NaN 12
hold 56 norm 127
imag(x) X 27 null 106
INF 0dez3
12 176
Inf oded5
inline 33 ones 1 13
input 75 path 5
int 151 || pause 75
interpl 139 || pchip 139
inv 22 pi ™ 12
[ 12 pie 55
keyboard 75 pinv 22
legend 56 plot 48
length 24 plot3 57
limit 43 plotyy 55
linspace 15 polar 55
load 8 poly 143
Tog 10
N log 10x 27 poly2str 143
7
log 2(x) log 2x 27 polyder 144
log(x) In x 27 polyfit 147
loglog 55 polyval 145
logm(a) In(a) a 23 pow2 (x) 2% 27
prod (m:
logspace 16 \ m(m+1) (n-1)n 27
)
long 82 qr 125
lookfor 4 quad 165
loose 3 quadl 166
Tu 111 rand 13
magic 13 randn 13
max (x) X 27 rank 106
mean (x) X 27 rat 82
median
N X 27 real (x) X 27
o rem ( a,
mesh 58 N a b 27
7
meshgrid 59 mod(a,b) 27
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reshape 14 surf 61
roots 93 syms 34
rot90 90° 14 symsum 44
round(x) 27 sym 35
save 8 tan(x) tan x 27
sec Sec x 27 taylor 45
semilog 55 tic,toc 165
short 82 title 56
sign(x) X 27 trapz 162
sin sin x 27 tril 13
sinh(x) sh x 27 triu 13
size 19 type 4
solve 86 ver MATLAB 5
sphere 46 vpa 82
spline 139 | what M- 4
sprintf 32 which 5
sqrt (x) X 27 who 4
sqrtm(a) a 23 whos 4
stairs 55 xlabel 5
stem 55 ylabel
subplot 47 zeros 13
subs 39 %

% % 7
sum 27




C

1
. savea lxt6 atyly2
load a hxt6 at yl y2

2.1
461 12120 604 834 3596
. alx azzgzue 774 Ba1(:,1:2)* a2 Error al”2 =516 1849 835 O
(641 16620 762 780 54760
al . 2= 25169 81 144 1681 36 2209 4 5041 °
05 12 47Q
03 41 2U
b1=09 6 710cl=9c2=7bl(3:4,:)*az=| o+ 1902
. bl = cl=9c2= 24,:)* a2 =
. . ( ) 345 747]
9 15 21
0 0
02 6 70

029 77 92
. al +5a1'-E=g73 245 325
(244 16 4250
(#3644 61919 281384
al® - rot90(al)? +6E = 33546 86434 90783 O
(62798 73320 4256620
.a=fliplr(reshape(1:2:31,4,4))
;- 0.0004 0.0006 0.0001 - 0.0003
,_ 504674 -0.8176 0.2330 011724
=0 0x 10
0-0.9336 1.6335 -0.4663 -0.2337(
00.4666 -0.8165 0.2332 0.1167 O

7 0.000 4 0.0010 -0.0031 0.0018 [

0. ] O
s a_p L1265 05615 22565 169157

82.2518 -1.1259 -4.5036 3.3777%
U-1.1257 0.5634 2.2502 - 1.6880U

00.1504 -0.0378 -0.3755 0.2630
) 0.1.9501 1.9500 1.9504 -1.95030
3 +5 ' /5=[] [1x 10
034491 -3.7865 -2.7742 31116

0-1.6493 1.8743 1.1993 - 1.424 30



190 MATLAB

 1.0000 0 +9. 000 Oi 7.0000 0
10. a) +1.0000i 2.0000 - 1.000 Oi 4.0000 E
U 3.0000 8.0000 8.0000+1.0000i

13. 169
14, x =88.4400 x = -47.5996i +60.8486j- 17.215 7k
2.2
2. f1 0.5 =-120.8234 f1 3 =145.9100 f1 e =51.3375f1 1.2 =-95.9109
bl bS]

b2 b4

bl = -(x"2 +5)/ (-sin(x)* x"2 -5* sin(x) +cos(x)* x"2 +5* cos(x) +log(x"2)*
exp(2* x))

b2 =exp(* x)/ (-sin(x)* x"2 -5* sin(x) +cos(x)* x"2 +5* cos(x) +log(x"2)*
exp(2* x))

b3 =log(x"2)/ (-sin(x)* x"2 -5* sin(x) +cos(x)* x"2 +5* cos(x) +log(x"2)*
exp(2* x))

b4 =(-sin(x) +cos(x))/(-sin(x)* x"2 -5* sin(x) +cos(x)* x"2 +5*
cos(x) +

log(x"2)* exp(2* x))
al +a2 =

4. a1 '=

sin(x), 1
exp(2*x) +exp( x), 5
ala2 =

(sin(x) cos(x))*cos(x) Hog(x"2)*exp(-Xx),
(sin(x) -cos(x))* (L -log(x"2)) -
log (Xx"2)*x”"2

exp(2* x)* cos(x) +(x"2 +5)* exp(-x),

exp(2* x)* (1 -log(x"2)) - (x"2 +5)* x~"2

1l c3p
al/a2 = H
(2 c40

cl =-1/(cos(x)* x"2 +exp(-x) -log(x™2)* exp(-x))* (-log(x"2)* exp
(-x)-
sin(x)* x"2 +cos(x)* x"2)
c2 =(exp(-x)* x"2 +5* exp(-x) +exp@* x)* x"2)/ (cos(X)* x"2 +exp(-x) - log(x"2)
* exp(-x))
c3 = -(-sin(x) +cos(x) +log(x"2)* sin(x))/ (cos(x)* x"2 +exp(-x) - log(x"2)*
exp(-x))
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cd = -(-exp@* x) +log(x"2)* exp(@* x) +cos(X)* x”2 +5* cos(x))/ (cos(X)* x"2 +
exp(-x) -
log(x"2)* exp(-x))
6. x+1 °+ x-1°%-2x=6x
8. 1 dz=cosycos xcosy dx- xsinycos xsiny dy
- X2 dx + L dy + 1 dz
X +y SRy -2 ay Way-Z o XAy
9. 1968329a/127 008 1/6* (signum(a)* inf-a)* «°
10. 31581/20 113245/4
2.3
1. plot plot
3. x1=-3:0.1:0;y1 =4.* cos(x1 -pi/4)."2;
x2=0:0.1:5;y2=x2./5 +4;
y3=2:0.1:4;x3 =zeros(size(y3));
x4 =5:0.1:13;y4 =x4.* exp(5 -x4);
plot(x1l,yl,x2,y2,x3,y3,x4,y4)
4. 1 t =-10:0.1:10;
x=3.* cos(t);y=3.*sin(t);z=3.*t;
plot3(x,y,z)
5 1 x=-4:0.1:4;y=x; x1 yl =meshgrid(x,y);
z=sqrt(9 -x1.72./8 -y1.72./6);
mesh(z),box( )
Xx=-4:0.1:4;y=x; x1 yl =meshgrid(x,y);
z=sqrt(9-x1.72./8 -y1.72./6);
surf(z),box

2 du=

2.4
it 0 0 1g M 1 0 1p
1 1 ol o o o ot
1l al<=a2-=0 Oxor(al,rot90(al,2)) =0 ad
El 0 1 0% %) 00 OE
(O 1 1 10 (b 0o 1 oO
it 1 1 0g M 11 1p
2. al&(al—inv(al)):EtL L lgal |(a1—inv(a1)):gl L 1%
%1 11 1H El 11 1%
A 1 0 10 O 1 1 10

3. 1 210
2 2.5613x10%
3 1.8447 x10%
5. 2-72 d(:,k+1) =(a"). k;
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clear,
a=input(" X ");
ifa<lga>-5f=an2;
elseifa>=1&a <10 f=2* an2.17 -1;
elseifa>=10 f=3* an2;
end;f
ti246.m ti246
=-3,f =9;x=8,f =181.2784;x=54,f =8748.
7.8 97 101 103 107 109 113 127 131 137 139 149 151 157
8. clear;
a=input( az=');
b=input( b=");
ifsize(a,2)==size(b,1)
for i =1:size(a,l)
for j=1:size(b,2)
c(i,j)=min(a(i,1),b(1,j));
for k=1:size(b,l)
c(i,j) =max(min(a(i,k),b(k,j)),c(i,j));

end
end
end
else printf('a b 9,
end,c
3
1 re x =10/19¥1rey =0.1/191 re z =1/191 rey y
1.73205 1096. 63
> 0.958924 1.386 29]
4 1 1 1

" 6251 6252 6251 x6 252
1 1-x_ x3x-1

5 1+3x 1+Xx 1+3x 1+xX
2
2 Jx+i- Jx-}(= X
\/x-i+ Jx+i
X X

X
3 lgx, - ngzzlgx—l
2
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1- cos2x _2sin’x
X X

4
2. solve S1 ="x"3 -2* x"2 -4* x=7" solve(sl)
roots x=3.6320 -0.8160+1.1232i -0.8160-1.12321i
fzero x=3.6320
-1.6844+3.4313i -1.6844-3.4313i 1.3688
. 0.510 973 429 388 569 109 520 013 971 145 08
. 0.876 7
-0.7750 1.9619
. [atan((-174 +174% J7Y7 (174 +174% JT))]
atan(( -1/4 -1/4* J7)/ (174 -1/4* /1)) -«
8. - 0.256 881 364 145 410 190 660 062 040 085 99
9. x=0.4366 y=-0.8419 z=1.1878
10. x=0.5991 y=2.3959 z=2.0050
5

4

N o 0l AW

1. 1 x1=1.0000 x2=2.0000 x3=0.0000 x4 = - 1.0000
2 x1=1x2=-1x3=1
3 x1=-1x=2x3=1x10°
4 x1=2.359 x2=-2.6033 x3=12.109
5 x1=-2.6x2=1x3=2 x4=3.5
6 x1=-9.629x10" x2= - 2.826 x10" x3=1581 x10"
Results may be inaccurate. RCOND =1.136 180 x10"".
7 x1=0.76471 x2=0.94118 x3=1 x4=0.94118 x5=1.2353
6
2.
1 1 20 16. 662 20
2 -4 4 3.4142 4
3 40 11 8.4728 13
4 4 16 13.073 17
4 1 = -0.70711 -0.70711 -0.70711 0.70711 r=2 4
2 =0 0 1 0.40825 0.8165 - 0.40825

0.40825 0.8165 -0.40825 r=211
3 = 0.70r11 -0.70711 O 0.57735 0.57735 -0.57735
0.40825 0.40825 0.8165 r=-1 -1.1102x10"* 9
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4 = 0.77705 -0.5798 0.23537 -0.066575 0.014027
0.54249 0.4298 -0.63178 0.33322 -0.10388
0.30151 0.60302 0.30151 -0.60302 0.30151
-0.10388 -0.33322 -0.63178 -0.4298 0.54249
0.014027 0.066575 0.23537 0.5798 0.77705
r=0.25384 1.7923 3 4.2077 5.7462
7
2. ykanterpl(x,y,xk,"nearest") =7.04 3.4 2.52
ykdnterpl(x,y,xk,"linear®) =6.6631 3.5872 2.3772
yk dAnterpl(x,y,xk,"pchip") =6.5453 3.536 2.3765
ykdanterpl(x,y,xk,"spline®) =6.4903 3.5226 2.3845
3. ykl dAnterpl(x,y,xk,"linear®) =2.5379 2.9207 3.186 3.312

yk2 dAnterpl(x,y,xk,"spline®) =1.8273 3.1057 1.8074 2.600

x14.55:0.02:1.92;yl dnterpl(x,y,x1,"linear™);
y2 dnterpl(x,y,x1,"spline®);

plot(x,y, " ",x1,yl,":",x1,y2,"r");legend("
")

36 A

K [ SR IEN

321 T —— ZRFER

1.8 -

1.6 . . . . . . . .
1.55 1.6 1.65 1.7 1.75 1.8 1.85 19 1.95 2

4. x° - 21x* +151x° - 411x* +280x

5. 5.545 3e +008 - 8.4475e+010  1.9522e+014

6. p, X p, X =819x° +3465x® +338x’ - 746x° - 4 108x° +923x" +7 454x° - 765X° - 1
785x +945
p, X /p, X 4.846 2x - 20.503

- 7.105 4e - 015x° +5. 684 3e - 014x* +1153. 7X° - 2. 615 4x* -
392.17x +289.53
7. pl=-1.6882x+8.0753
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p2 =0.87283x° - 2.6455x +1.824 7
p3 = - 0.038 995X +0. 917 46X* - 2. 263x +1.769 2

8.
8 T T T
7N SR 1
N 000 = UK
AN e Skl
67 N ——— s ]

8
3. 1 2.9349 2 0.8319 3 2.6516 4 -3.4167 5 3.8394 6 32.5306

4. 0.0037 0.0031
5. 1 0.2721 2 0.3835 3 45/8 4 R=5250/3
9

2x-2+e e
2 +4x+2e™ Y22

2/ X +1
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function yl fun916 (x,Yy)
yl x y"2;
* fun91e6’ ode23 (@fun916, -55 , 0 ),
u=Clcost + Q2sint v= - Clsint + C2cost
u=e"sindt v=e"cosst
u=cost v=gnt
sinh x +cosh x

N P WDN -

function dy fun932(x,y)
dy zeros(2,1);
dy (1) ¥(2);
dy(2) 4 (1 x72)* y(1);
* fun932’
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ode23 (@fun932, 05 , 13 ),grid
3 4 5 6 7 2

function dY fun94 (x,Y)
dYy=010;001;04/x"2 -1/x *Y+ 0;0;1 *3/x;
‘ fun94’
ode23(@fun94, 14 , 0;-1;1 ),grid
5. dsolve ('x"3* D3y +x"2* D2y -4* x* Dy =3* x~2','y(1) =0,Dy(1) = -1,
D2y (1) =1','x")
= -1/2* x"2 -1/6 +1/2/x +1/6* x"3
ezplot(' -1/2* x"2 -1/6 +1/2/x +1/6* x"3', 14 ),grid
1o 1.1 .1

—ay2_21 41 243
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